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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272065
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592734745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following letter series:

GL, DI, AF,
Options:

1. v XC
2. % PB
3. = SB
4. = PR

Question Number : 1 Question Id : 54592734745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

GL, DI, AF,

Options:

1. v XC
2. = PB
3. = SB
4. = PR

Question Number : 2 Question Id : 54592734746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term in the following series:

5H10, 12K24, 26N52,

Options:

1. v 540108
2. % 540102
3. » 545108
4. % 54R112

Question Number : 2 Question Id : 54592734746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

SH10, 12K24, 26N52,

Options:

1. v 54Q108
2. = 54Q102
3. = 545108
4. = 54R112

Question Number : 3 Question Id : 54592734747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the following series:

SVY, PSV, MPS, JMP, I|M
Options:

1. = PSV
2. * MPR
3. » [MP



4. v [JM

Question Number : 3 Question Id : 54592734747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TaEd SEer # Teld T AT

SVY, PSSV, MPS, JMP, [JM

Options:

1. = PSV
2. » MPR
3. = JMP
4. v |IM

Question Number : 4 Question Id : 54592734748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = Cricket

2. » Baseball
3. = Softball
4. v Foothall

Question Number : 4 Question Id : 54592734748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow a7 [Oefedl A 4, did U ead dileh 8 AT &

&Tollloh, Ueh Tdhed e dlel T dig olel &l 3T Aeq &

el L ST AT T 37T &1

Options:




« Terehc
« Selol
HTFCH ol

T

v Thcdlel

-2

ol
#®

Question Number : 5 Question Id : 54592734749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. « ROU
2. = JGM
3. = V8Y
41, v AWE

Question Number : 5 Question Id : 54592734749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feU a0 geredl & &, dieT U Afead aies & @A &

&TeliTeh, Ueh Taeheq 3ed died T ol el &1 39 [reT &
T Y ST ATRT T 37el4T ¢

‘Ip. = ROU
2. = JGM
3. = VSY
4. v AWE

Question Number : 6 Question Id : 54592734750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = Blacksmith : Metal

2. v Composer : Movies

3. » Dramatist : Play

4. = Professor : Education

Question Number : 6 Question Id : 54592734750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 17 [Ghreul A 3 ersal & ST ThaAT Joiad & T Th
SIBT 37619 g & TaTSd &1 39 SHal &l ATd Y oI 37erdT
g & garadT gl

Options:

1. = S@N : 2IG|
2. v TIaer : Thed

3. % dlchahld ; odlch

4. % GTegTOeh ; TEveIT

Question Number : 7 Question Id : 54592734751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

Day : Night :: Dawn : ?
Options:

1. = Morning
2. » Sunset
3. v Dusk



4. = Sunrise

Question Number : 7 Question Id : 54592734751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [dhed &7 I« Y S dIaX U8 8 38T TR & T@aidd &
o 7hT & Ugell U g 9% & Faiad gl

el 0T 2 A 7

Options:

2.« FgAEd

3. v §&OT

Question Number : 8 Question Id : 54592734752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

EHK : ILO :: DOW : ?
Options:

1. = GVB
2. v HUA
3. = IVA

4.« HVB

Question Number : 8 Question Id : 54592734752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 fdheT T T e S AR 9 F 38T ThR & Hadd §
o 9} & Ygel U5 g U% H FEAd g

EHK : ILO :: DQW : 7

Options:

1. = GVB
2. v HUA
3. = IVA
4. = HVB

Question Number : 9 Question Id : 54592734753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

FMS @ JIW 2 ?
Options:

1. » AMP : FJX
2. » CMT : GKY
3.« DKM : ZBA
4. v BNS : FJW

Question Number : 9 Question Id : 54592734753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 SNST &l Tdd R S 38T 3R 9T arad &, o9 R
gy TaTeT H ar 915 SNer §afdd &

FMS : JIW 0 ?

Options:



1. = AMP : FJX
2. = CMT : GKY
3. = DKM : ZBA
4. v BNS : FJW

Question Number : 10 Question Id : 54592734754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language SUN = 6, MOON = 8, VENUS = 10,
then what will be the value of JUPITER?

Options:

1. = 10
2. % 12
3.v14
4 % 16

Question Number : 10 Question Id : 54592734754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U fofad @IS 9 #, SUN = 6, MOON = 8, VENUS =
10 &, @ JUPITER T Hed AT glaM?

Options:

1. = 10
2. = 12
3. v 14
4. = 16

Question Number : 11 Question Id : 54592734755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If toe is called finger, finger is called thumb, thumb is called
ankle, ankle is called foot, foot 1s called knee, then what will
an illiterate man use to mark his signatures?



Options:

1. v ankle
2. » foot

3. = Knee
4. = thumb

Question Number : 11 Question Id : 54592734755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iie YT & 39[S T 3Tl FgT AT, el HI II[ST FgT AT,
3IS HT TWeAT gl ST, Tt hI U Fgl SV, YT FT g
HET o, dl Teh 3olUg EHAT IHUAT FEATEY Thad HLa?

Options:

1. v TE&dAT
2. = O
3. = gl

4. = 3913T
Gy,

Question Number : 12 Question Id : 54592734756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

'Ju ru hu gu’ is the code for 'driving is not easy’

'nu su ju du’ is the code for 'rough and hard driving’
'au ru tu pu’ is the code for 'looks easy but dangerous’
'Junu au du’ is the code for 'is rough hard dangerous’

What is the code for 'rough but nice’?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. nu tu au
2. nu tu pu
3. nu pu au



4. pu bu nu

Question Number : 12 Question Id : 54592734756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh ToIf9ea his 9T A,

'lu ru hu gu' ST I & 'driving is not easy'

'nu su ju du' FT HIS & 'rough and hard driving'
'au ru tu pu' T HIS & 'looks easy but dangerous'
'lu nu au du' ST HI5 § 'is rough hard dangerous'

'rough but nice' T 15 FAT &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. nu tu au
Z. nu tu pu
3. nu pu au
4. pu bu nu

Question Number : 13 Question Id : 54592734757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four friends — R, §, T and U are sitting around a square-
shaped table. R is facing South and has T to his immediate
right. U is facing West. Who among these friends is facing
East?

Options:

1. = R
2.% 8§
3.vT
4. %1

Question Number : 13 Question Id : 54592734757 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

IR BT - R, S, T 3iF U v dioT 3R &fT A7 & IRl
3T §& §1 R T Hg ST6T0T oo &7 3R § 31T 39+ Thed
ool AV HE T a7 &1 U T Hg Iiewd feer & 307 g
ol Al A & o 1 Hg qa e 1 3¢ &2

Options:

1. = R
2. » S
3. ¢ T
4. = U

Question Number : 14 Question Id : 54592734758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Analyse the information given below and answer the
question that follows.

Raju is five years older than Bhola.

Lalu is younger than Veeru by two years.

Chintu is older than Raju by one year.

Veeru IS siX years younger than Raju.

Who among the following is definitely the youngest among
the given friends?

Options:

1. v Lalu
2. % Veeru
3. = Bhola
4, = Raju

Question Number : 14 Question Id : 54592734758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S & IS SATARHT T FeANr ¥ 3T 39 wee T 3T &

ST ot UhIT &

TTS], Hell & T Glel S37 &l

Ao, A€ & & FTeT BT &l

fRig, TS| & T dreT F37 B

dTE, T5] & BE ATl BT

farfef@a & 8 sia Afeaa €7 8 QU a0 Qear & gea
BleT &7

Options:

1. v @Te[
2. = dIw
3. = 8Tl
4. = 0o

Question Number : 15 Question Id : 54592734759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. » Horse - Stallion
2. » Deer - Buck

3. = Goose - Gander
4. v Swan - Cygnet

Question Number : 15 Question Id : 54592734759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fau v Gereul & el hr 3 ST TATT &7 I FHEUT &, 3T
Teh SI8T 3oldl oig & Fardd gl 39 SISl I ATT e SlF 3eldr
g ¥ TErad gl

Options:

1. = ENET - Ecloga
2. = T80T - §h
3. * §cdd - &9

4. v &9 - @9dc

Question Number : 16 Question Id : 54592734760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. High School

2. University

3. College

4. Kindergarten
5. Primary School

Options:

1. = 3-2-1-5-4
2. % 5-4-2-3-1
3. v 4-5-1-3-2
4. % 5-1-3-4-2

Question Number : 16 Question Id : 54592734760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ARt fev 910 ereal s Ho IUIFT AT ATTF IeRA A

LY Y i o
AT hial dlel [dFeT T T Hi|

High School
University
College
Kindergarten

I e

Primary School

Options:

1. % 3-2-1-5-4
D, % 5-4-2-3-1
3. v 4-5-1-3-2
4, * 5-1-3-4-2

Question Number : 17 Question Id : 54592734761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for allocating government accommodation have
been given as under:

The candidate must:

1. Be a Class I officer with the Government of India.

2. Have completed 20 years of service in the current
department (including deputation).

3. Should not have a living spouse who is a beneficiary of staff
accommodation under the same or similar service benefits or
provisions.

The following exceptions apply if a candidate has:

A. Served more than 15 years but less than 20 years in the
current department but is an ex-defence personnel with more
than 5 years of active service. Such a candidate is to be
referred to the Secretary, Personnel.

B. Fulfilled all other criteria except 3 above; but the spouse of
the concerned officer is located more than 100 km away. Such
a candidate will be referred to the Under Secretary,
Government Accommodations.

Ashish Prasad is a Class I officer with more than 23 years of
service in the Finance Ministry. His spouse is the District
Medical Officer of Baghpat district which is 135 km from Mr.
Prasad’s office. Mrs. Prasad has been allocated a government
bungalow and car.

What decision should be taken about this applicant?



Options:

1. = The applicant should be allotted the requested
accommeodation.

2. = The applicant’s request should be summarily rejected.

3. » The applicant should be referred to the Secretary,
Personnel.

4. v The applicant should be referred to the Under Secretary,
Government Accommodations.

Question Number : 17 Question Id : 54592734761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&1 IS STeTehRT T f9eawor Y 3 39 woa &7 3ca¥ & ST
faF T U &I

THRRT @ 3Efed Fled & AUES fAraar &:

3FATGAR & ToIv qo-3aegdehdv:

1. ¥Rd RN & 1 A0 | ATSRT &l

2. gaATe fqemer (Ffafergieha @fgd) & 20 @rer i dar i T
ol &l

3. Uk Sfad Sgaaredy ser gier aifge S GATe IT AT JaT
ST IT UITUTAT o dgd hHATAT o HTGRT T oTHTAT &l

fFafaf@d 31arg o] gld § Ife 3FAGaR & 94:

A. gATe fasmer & 15 a¥ & i fovg 20 af & & &1 d@ar
ar a5 & oifshet 5 a¥ & 3119 @ik a1 & T2 Ush q-T&TT
FAT &1 O 3FAGIR & g, FIHe & I AT ST &
B. 3t 3 & BISH 3T FHI AlIes! I G0 fhAT; afehat
A 3TIRNRT &7 Sigerarad’ 100 km & 3779 gy Fud &
U8 379l I 37aY g, S8l 3EEr & AT SIea|

N 9IS AU | &7 ATYRAT & o8e Tcd #A3e g & 23 &
37TR et T AT FT &1 3HFT SgaaredT seraa forer w1 forem
RIfercaT 31faHRT & ST 4 vaTg & SaTeT § 135 km gT &
HTACT THIE FT Tk GIRRT FITelT 3T SR Hdfed Far =T &

=g e o gR H FAT 0T oRT ST amiave?



Options:

1. = 3dceh T AT Jaw 3afed fhar Sier =@mfgo|

2. = 3Mdesk & AU HI AT T T 3RGFR FT e
ST AT

3. = 3Mdgeh &l G, FITHS & 9 HlT ST AMET|

4. v 3Tdceh ol 3GY GRG, TLhRT AERT # AT e gy

Question Number : 18 Question Id : 54592734762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements have been given followed by
two conclusions numbered I and II. Assuming that all
information in the statement is true, analyse the two
conclusions together and determine whether any of them
logically and definitely follow(s) from the information given
in the statement.

Statements:
I. All pens are erasers.
II. Some erasers are sharpeners.

Conclusions:
I. Some erasers are perns.
II. Some sharpeners are pens.

Options:

1. v Only conclusion I follows

2. = Only conclusion II follows

3. = Both conclusion I and II follows

4. = Neither conclusion I nor II follows

Question Number : 18 Question Id : 54592734762 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

=H U2l H, & U« | 3R || & g shy f&w arv &1 I8 Aed
y%mﬁmﬁmmqﬂﬂ o &, ar oSSl 7 TR @re
faeciyor Y 3T foraTRa F & Fua & &7 918 ST & &
IS o dfeheh ¥ @ AT fAlRET €7 F 3HFEIOT FIAT B

hafe:
. T O @3 B
I $& @3 oMUY &I

IGLEAF
. & W5 U E
I ¥ MU= Ul &

Options:

1. v kel TelSehy | 37TEIOT AT &

2. % hael Tasehy || AETOT ] &

3. = 2l fasshy | 3T || 30T RId &
4.« o @ | 3T & & |l HFTEI0T FIAT &

Question Number : 19 Question Id : 54592734763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements:
I. “To stop train, pull chain. Penalty for improper use Rs.
2,000”.

Assumptions:

I. Travellers may need to stop the train in case of an
emergency.

II. Some travellers may misuse the facility to board or
deboard the train at unauthorised stops; or they may pull the
chain just for fun.

Options:

1. = Only assumption I is implicit.

2. = Only assumption II is implicit.

3. » Neither assumption I nor assumption II is implicit.
4. v Both the assumptions are implicit.

Question Number : 19 Question Id : 54592734763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g U H, U wud fgar = §, g s | 3w 1l Fray
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
F b 38 & Fid I/d s A fed g

hof.

. “YLCEMST FT Uohed F AT, TSR DT 3T 39T & felw
STATET 2,000 90 &' |

IOV

. AT Y 3TUTdRTelel E2fr & IG@sT sl Ushal !
3aegdehdT & Hehal &l

I F& IE AT ST W IoEMSl H TGel AT el hi
FIAT T ZEIANET FT Thcd &; AT T AF Feelad & foIw
SIeiR =i dehet &

1. » Shad gronm | fafga &

2. = hael grom |l fafga &

3. = of df 94RO | 3T o & aron || =Ed &
4. v gt garRone fafga g

Question Number : 20 Question Id : 54592734764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

25.62, 26.90, 28.18, 29.46,

Options:

1. » 32.52



2. v 30.74
3. % 31.25
4 % 3228

Question Number : 20 Question Id : 54592734764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et &aT Al ST QAT HL:

25.62, 26.90, 28.18, 29.46,

Options:

1. = 32.52
2. v 30.74
3. = 31.25
4. » 32.28

Mental Ability?2

Group Number : 2

Group Id: 5459271722

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459271722
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459272066
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592734765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

16, 32, 64, 128, 254
Options:

1. = 32
2. % 64
3. = 128
4. v 254

Question Number : 21 Question Id : 54592734765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et dear saer # @ Tod &1 AT Hil:

16, 32, 64, 128, 254

Options:

1. = 32
2. » 64
3. % 128
4. v 254

Question Number : 22 Question Id : 54592734766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

56:5/28::25:7

Options:

1. = 3/14
2. v 2/5

3. = 4/17
4. = 217

Question Number : 22 Question Id : 54592734766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

o : B/28 = 25 : 7

Options:

1. = 3/14
2. v 25
3. = 4/17
4. = 2117

Question Number : 23 Question Id : 54592734767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

1.6:5/8:22:7

Options:

1. = 7/18
2. % 6/11
3. % 4/13
4. v 5/11

Question Number : 23 Question Id : 54592734767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

1.6 : 5/8 :»: 22 :7

Options:

1. = /N8
2. % 6/11
3. = 4/13
4. v 511

Question Number : 24 Question Id : 54592734768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

56, 72, , 110, 132, 156

Options:

1. v 90



2. % 92
3. % 98
4. % 88

Question Number : 24 Question Id : 54592734768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFToTaT F&ar &er A Gk TEAT I ATT Fi

56, 72, , 110, 132, 156

Options:

1. v 90
2. = 92
3. = 98
4. = 88

Question Number : 25 Question Id : 54592734769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

8,9,64, 216,49
Options:

1.v 25
2. % 36
3. = 343
4 % 16

Question Number : 25 Question Id : 54592734769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feTfaTaT a&ar s/&er | AT TEIAT I ATT FI|

8, 9, 64, , 216, 49

Options:

1. v 25
2. = 36
3. = 343
4. = 16

Question Number : 26 Question Id : 54592734770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (x +9) <(y + 13), then which among the following is true?

Options:

l.=XxX+y)>4

2.2 (X-y)> 22
3.2 (X+y)<22
4. v(X-y)<4

Question Number : 26 Question Id : 54592734770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg (x + 9) < (y + 13) &, aOr afe™@a & & &9 @1 ¥
e

Options:

1. = X +y) > 4
2. % (X -y) » 22
3. 0% (x +y) < 22
4, v (x -y) < 4

Question Number : 27 Question Id : 54592734771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the number which when added to itself 14 times, gives
120.

Options:

1.+ 8
2.% 9
3.= 10
4. %12

Question Number : 27 Question Id : 54592734771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 H{squaﬁmﬁ,a’rMawqgaﬁ@s?rwwoﬁa?ﬁ
&l

Options:

1. v 8
2. % 9
3. = 10
4. = 12

Question Number : 28 Question Id : 54592734772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train starts from city A. The number of women in the train
is one third of the number of men. In city B, 10 men leave the
train and 6 women enter. Now number of men and women 18
equal. In the beginning, how many passengers entered the
train?

Options:

1. v 32
2. % 24
3. = 40
4. % 30



Question Number : 28 Question Id : 54592734772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT A & Uk YGRS UF Bl B Yeramsy & Afgarsit kv aear
TES! T TEAT & Uk g ¥ A8 B H, 10 I%Y Jo@MSr

3R & 3R 6 AT gader FIAT &1 379 Io9 3T Afgemait hr
TEAT & g BT A, vl AT o LeEnst & qaer mar?

Options:

1. v 32
2. % 24
3. = 40
4. = 36

Question Number : 29 Question Id : 54592734773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two numbers should be interchanged to make the
below equation mathematically correct?

15x3-172+10+ 2 =121
Options:

1. % 3,10
2. % 172, 2
3. =10, 2
4.+ 172,10

Question Number : 29 Question Id : 54592734773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s U 7T FATRIOT FY AUCERT FT & TgT Fellel o olw fohet
2l GEIT3T Y TWEW TATATART AT SATar I1ige?

15 x 3 -1/72 + 10 = 2 = 121

Options:

1. = 3, 10
2. % 172, 2
3. = 10, 2
4. v 172, 10

Question Number : 30 Question Id : 54592734774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams best represents the
relationship between buses, boats and vehicles?

Options:

1.@*
2.*%

3.« (LD

Question Number : 30 Question Id : 54592734774 Question Type: MCQ Option Shuffling: Yes



PR & @ Fl ar 3 s g, AEr AT aget & &
& GFY hr G THT c20TdT &7

Options:

1. ¢

Question Number : 31 Question Id : 54592734775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following figure, rectangle represents artists, triangle
represents military officers, circle represents social workers
and square represents fathers. Which set of letters represents
social workers who are fathers?

Options:




1. = DF
2.vH
3.5 D
4, = CD

Question Number : 31 Question Id : 54592734775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeTTeT=IT 3Rl A, 3T FHellpRT HI geATr &, FHepior dog
FTAHIRAT T S=ATAT &, oo HTHTGIR RIRAhcl3l HT FATT &
3T et TOar3tt 1 geitar &1 37&RT T il AT dC ATATIOIR
FIRIGATT I gellar o oar &7

Options:

1. = DF
2. v H
3. = D
4. = CD

Question Number : 32 Question Id : 54592734776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A poods truck is being parked in a warehouse. The truck is
initially facing North. It is driven 20 feet ahead and then
turned 90 degrees in the clockwise direction. Then it goes
backwards for 10 feet and then turns 180 degrees in the
anti-clockwise direction and stops for unloading. Which
direction is the truck facing finally?

Options:

1. = East

2. v West
3. = North
4. = South

Question Number : 32 Question Id : 54592734776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ATl g R Uk IMerdA A T3T fRAT ST 8T & goh O A
3ca¥ T 3T &1 37 20 Hie 36 IomaT ST & 3
eferonae feem & 90 33t 9 gAm Sirar g1 e Jg 10 ¢
ek Oy 1 3T ST § I arATae fgem A 180 3l W Ag
ST & JAT 3aE & ToIU Bk ST &1 ¢ IMET fora fem i
RE &7

Options:

1. = 7@

2. v IeTH
3. ® 3cd¥
4. = Zi&ror

Question Number : 33 Question Id : 54592734777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:
I. All parrots eat chillies.
II. Mithu does not eat chillies.

Inference:
I. Mithu is a parrot nevertheless.

Options:

1. = The given inference is definitely true.
2. v The given inference is definitely false.
3. » The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 33 Question Id : 54592734777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g 9o H, &7 FUl & dG Ueh AT ST STl &1 Shear
3R STATAT T faeedyor & 3R faTia T f& fqu e
HAATSAT T FAAT T foAshTell ST FehelT & AT LT

hefeT:
. @dT aa @ = g
I. g &< =& =@rarl

I.ﬁgm%ﬁwﬁ|

Options:

1. =

feam I stepATe AT s @ acg &

2. v o2 I AT ARaT 9 @ T g

3. =TT AT AT HET AT eI §T Fhell

4. » Ig oISy QU M0 FUAT & gl [Ahrem ST FhdT &l

Question Number : 34 Question Id : 54592734778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

E |
0 D
] &

?

Options:



A

Question Number : 34 Question Id : 54592734778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

SleT &I e 3Tpi TRl 3THId & Ucer I [ HM?

E —

?

Options:




Question Number : 35 Question Id : 54592734779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is the wrong figure in the
series?

KO
+ Gx@ +
c |0 @ |o s |o
a b d

Options:

1. = A
2.% B
3.v(C
4. %D

Question Number : 35 Question Id : 54592734779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFafofEd # @ il T ehed STl H el 3Thid &7

+ O

@ x M|+ WX @

o
o|l® =
o
alw
o




Options:

1. = A
2. = B
3. v C
4. = D

Question Number : 36 Question Id : 54592734780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Figures given in which of the options is most similar to the
two figures given in the question?

IHE

Options:

_

1. @

7
D

[

O D>
342

oL

4, v

Question Number : 36 Question Id : 54592734780 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fore Taered # &1 1% 3Mepfaal weal & &7 a1 ar 3epfaar |
e 3T FATAAT TTAT 87

2|
DD

S

Options:

Question Number : 37 Question Id : 54592734781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following cubes in the answer figure CANNOT
be made based on the unfolded cube in the question figure?

O
0l
24

Options:

s

O
A

2

4. =

Question Number : 37 Question Id : 54592734781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 3T & forE oeT &Y el 3TRfd 7 Wehe Ol & 3MUR

T el TATIT ST ThdT?

O
0l
W

Options:

Question Number : 38 Question Id : 54592734782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figures, select the one in which the
question figure is hidden/embedded.

Options:
TR
/
| ARV
2« LPK
3. %
4, v

Question Number : 38 Question Id : 54592734782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r a8 3 AT # H, 37 Uh T Tl Y oTHH TRl
i AT &




Options:

/\

/
1.« IV
> « LPK

Question Number : 39 Question Id : 54592734783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how
it will appear when opened.

Options:

1. v




4 = [FOON

Question Number : 39 Question Id : 54592734783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teel IMFIT A AT TET a4 gHhs T AR 3HH
3 U a0 &1 & 9% 3 3ot &, P9 Y 6 8 Fet
ST W IE T femrs 29

Options:

= S
N

DI:I D<:]
O O3

1. v [ROEA
OO
FOON
nOOAd

2 w FOOXN




Question Number : 40 Question Id : 54592734784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MN, then which of the answer
figures will be the right mirror image of the given figure?

/-

M

M

Options:
=
1.« O
N
2% =
N




4 vI=

Question Number : 40 Question Id : 54592734784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITE Tk YT Sl I@T MN O9F TET =T &, aF hid I 3caw
3Tepfel &1 a5 3Tl &1 AT guour ufafes geie?

M

E
M
Options:




General Awarenessl

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

3
5459271723
0

0
No
No
0
20
No
Yes
0

0

General Awareness1

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

5459271723
1

Online
Mandatory
20

20

20

1
5459272067
Yes

Question Number : 41 Question Id : 54592734785 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which among the following dance forms is not associated

with Andhra Pradesh?

Options:

1. = Kuchipudi
2. » Kolatam
3. » Changu
4. v Ghumura

Question Number : 41 Question Id : 54592734785 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



faratfafad s 9 & @ FleT T sfcT 3Ty wder ¥ Fafdd
el &7

1.w$ﬁg§r

2. % FToldd
3.%?11?_1
4.&?2?41‘[

Question Number : 42 Question Id : 54592734786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hareli is one of the major harvest festival of tribal

celebrated during the holy month of Sawan.

Options:

1. ¥ Chhattisgarh

2. = Gujarat

3. » Tamil Nadu

4. » Andhra Pradesh

Question Number : 42 Question Id : 54592734786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l gigel & U@T Agle o ERTeT AT STel arell

% AT FT T4E HHd AR H 8§ TF ¢

Options:

1. v Bcal G

% AT

20

2.

3. = diHel o8
o

4. % 3T uder

Question Number : 43 Question Id : 54592734787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Kut festival is a major Post Harvest festival celebrated in the
month of by Kuki-Chin tribes.

Options:

1. = July

2. v November
3. = May
4. = September

Question Number : 43 Question Id : 54592734787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y £ N Y o I
$C RN Th 97T Hlel el I8N g o epl-Tdol

SASTdAr EaRT F HAGle A HAATIT ST &1

Options:

1.« Sos

2. v da

3. = AS
4, » THI

Question Number : 44 Question Id : 54592734788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The theme of song often revolves around the
separation of lovers.

Options:

1. = Rasiya

2. » Jawwall
3. v Birha
4. = Ainchaliyan

Question Number : 44 Question Id : 54592734788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T 1 BT ey AT & e & &g
AT &

Options:

1. = I &=T
2. % heglell

3. v oL@
4. % TR

Question Number : 45 Question Id : 54592734789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the minimum percentage of demand and time
liabilities (deposits) that the bank has to maintain in form of
gold, cash or other approved securities at the close of every
business day.

Options:

1. = Cash Reserve Ratio

2. = Capital Adequacy Ratio
3. v Statutory Liquidity Ratio
4. = Reverse Repo Ratio

Question Number : 45 Question Id : 54592734789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3T AT SAGTRAT (STAT) T 7 gelcIA
yfaera & 99 §F # v+ gaaiRe G & 39 & i,
aehal AT 3o JfefAlicd FTasfaadl & &9 A S0 IWal gier &

Options:

1.&3%311?&%3@113

2. % qﬂ\—r‘i’r T 37eTqTd

3. v durfass ddedl 3T



4. = @@ I 3T

Question Number : 46 Question Id : 54592734790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If the Government adopts a contractionary fiscal policy, then

Options:

1. = aggregate demand curve will shift right.
2. = ageregate supply curve will shift right.
3. v aggregate demand curve will shift left.
4. = ageregate supply curve will shift left.

Question Number : 46 Question Id : 54592734790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE TTHR UF GIASTcHS ToTohINTT dAlfad 3TTeITdT &, ar .

Options:

1. = %l AW T FgaT 3 fwe gem|
2. * Fol Y Tk aAligell T RIFE G|
3. v %o ATIT Toh &5 3 oIee & g
4, = Pl YT Tk &g AR e gl

Question Number : 47 Question Id : 54592734791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum support price of Maize for 2018-19?

Options:

1. = Rs. 1425 per quintal
2. = Rs. 2500 per quintal
3. = Rs. 1950 per quintal
4. v Rs. 1700 per quintal

Question Number : 47 Question Id : 54592734791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2018-19 & ToIT Hefh T YoTdH THIT Hed AT §7

Options:

1. % 1425 39 Ufa ToFacer
2. = 2500 39 uid TFacer
3. = 1950 w9 ufd TeFacer
4. v 1700 &9 9id TFacer

Question Number : 48 Question Id : 54592734792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following laws is also known as Gay-L.ussac
Law?

Options:

1. = Coulomb’s Law
2. » Boyle's Law

3. = Joule's Law

4. v Charle’s Law

Question Number : 48 Question Id : 54592734792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farei@a 7 @ fow faw &1 d-oamr f@gd & &7 7 off

STl ST &7

Options:

1. » Felld 7 foasm
2. = g & f@TH7
3. * Sl &7 TA

4. v AT HT @I

Question Number : 49 Question Id : 54592734793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which among the following is not a characteristic of Alkali
metals?

Options:

1. = They are very soft and can be cut easily with knife.
2. = They react quickly with water.

3. » They have low densities.

4. v They have high melting and boiling points.

Question Number : 49 Question Id : 54592734793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & *ld & argait 7 fGeIvar gt g7

Options:

1.wa‘a§d TH Bl & 3N Arh & 3T & FIET S Fehell
|

2. = T UTaT & GTY STl ITATHIAT Far &

3. % 3alhl Holcd hH BIAT &

4. v Joloh 3T Telelleh 3T FITUAATH &l

Question Number : 50 Question Id : 54592734794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The phenomenon by which plants grow or respond to touch is
known as

Options:

1. v Thigmotropism

2. = Phototropism
3. = Transpiration
4. = JSMOSIS

Question Number : 50 Question Id : 54592734794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



a8 "eaT [Sae @R O §gd & AT TUEh R 9T uiafshaAT
Rl B, & ¥ H ATAT AT gl

Options:

1. v MAEdeH
2. * VRIRMTefdciel

LY |
3. % dIsYlcHald

4. % RTETOT

Question Number : 51 Question Id : 54592734795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anemophily is a form of pollination whereby pollen is
distributed by :

Options:

1. = butterfly
2. ® bee

3. » water

4, v wind

Question Number : 51 Question Id : 54592734795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAAThell ILTaT0T ST Ueh & ¢ Toldeh NI WXET )

CaRT faditd foram ST &

Options:

1.« foreren
2. » FYFFE
3. = 9T
4. v gar

Question Number : 52 Question Id : 54592734796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



have dorso-ventrally flattened body and hence are
called flatworms.

Options:

1. * Aschelminthes
2. = Arthropoda
3. = Mollusca

4. v Platyhelminthes

Question Number : 52 Question Id : 54592734796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H 2l -deell #eT # T9er e’ & 3T sgfev
g8 TUCT HTH FHgl ST &

Options:

1. = 3EdfeA«dd

2. » Fleydrg (3YfaIET)
3. = HToIERT

4. v wdigfenead

Question Number : 53 Question Id : 54592734797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the famous Kanha National park located?

Options:

1. = Uttar Pradesh
2. v Madhya Pradesh
3. » Karnataka

4. = Gujarat

Question Number : 53 Question Id : 54592734797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Fleal TSI 38TTel gl LT 7

Options:




1. = 3l vaer
2. v LT Yool
3. % @hallceh
4. » TERI

Question Number : 54 Question Id : 54592734798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s a measure of the variety of organisms present in
different ecosystems.

Options:

1. = Blogeography

2. = Estuary
3. v Blodiversity
4. = Composting

Question Number : 54 Question Id : 54592734798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faftesr wRfeufas T3t # Al Siar $r iawgar

T Ush HIIT gl

Options:

1. » S aqgﬂ?«r
2. % cmwéﬁ‘lgw

3. v o9 R™fgyar
4. = TG

Question Number : 55 Question Id : 54592734799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Scurvy is caused due to the deficiency of Vitamin :

Options:

1. = A



2. v
3.=xD
4 = E

Question Number : 55 Question Id : 54592734799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehal 9T Taerfder T FAT F FROT BT &l

Options:

1. = A
2. v C
3. = D
4. = E

Question Number : 56 Question Id : 54592734800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following rivers is not a tributary of the
Tapi river?

Options:

1. » Bori
2. = Aner
3. = Girnar
4, v Betwa

Question Number : 56 Question Id : 54592734800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feIfT&T sfdar & § i drdr oidr T Jerae ofdl gl §7

Options:

1. % &HT
2. % 3T
3. » PR



4. v ddar

Question Number : 57 Question Id : 54592734801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which among the following mountain ranges is also known
as Severn Sisters?

Options:

1. ¥ Purvanchal Range
2. = Vindhaya Range
3. » Aravalll Range

4. = Karakoram Range

Question Number : 57 Question Id : 54592734801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d & O Fg YadATeT o g BT & «arF O o7

SATeIT SATT &7

Options:

1. v gaiael qdcATe

« o< gaaATer

[

2.
3. ® 3Tl IadHTe
4.

« hNTRILH TadHT

Question Number : 58 Question Id : 54592734802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s also called the Elephant Hills in local language.

Options:

1. = Nilgiri Hills

2. *» Cardamom Hills
3. v Anaimalai Hills

4. = Tapovan Hills

Question Number : 58 Question Id : 54592734802 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

I TATART ATIT A vlothe Beq oY FgT S1aT &I

Options:

1. = aTelfeNy YgIsar
A CISEIRRIER]
3. v odTHATS UEISAT
4, = JUrge UBTSAT

Question Number : 59 Question Id : 54592734803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Persian Gulf is an extension of the in Western
Asia.

Options:

1. = Pacific Ocean

2. = Atlantic Ocean
3. v Indian Ocean
4. = Southern Qcean

Question Number : 59 Question Id : 54592734803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRY ST TIET UregAT uier & FT AR &I

1p. % TTd HSTHER

2. % 3colllceh AGMNER
3. v Teg AENPR

4. = STV AR

Question Number : 60 Question Id : 54592734804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pomiculture is the type of agriculture which is associated
with growing of




Options:

1. = flowers
2. % birds
3. = fish

4. v fruits

Question Number : 60 Question Id : 54592734804 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

AT e Y T ThR & ST % Feal " ST ¢l

Options:

1. = goq
2. = g&fT
3. = HASDoll
4. v ol
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Sub-Section Number: 1
Sub-Section 1d: 5459272068
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592734805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following countries is the largest producer
of strawberry?

Options:

1. v China

2. » Brazil

3. » Turkey
4. = Indonesia

Question Number : 61 Question Id : 54592734805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTell@aa el & & hieT AT 22 Tl T T8 8T 3cUlgeh
&7

Options:

1. v lel
% FTollel
% Jehf

) D
. & 33'% |§|2]|

Question Number : 62 Question Id : 54592734806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mesopotamia broadly refers to the lands between the rivers
Euphrates and

Options:

1. » Ganga

BOwWON

2. » Indus



3. v Tigris
4. = Nile

Question Number : 62 Question Id : 54592734806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AQEaEAT 92 YA W W o4r 3T

ST T A FT Herd LT E

Options:

1. = 3@
2. « fig
3. v goter (feariia)
4, = alel

Question Number : 63 Question Id : 54592734807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the last king of the Gupta Dynasty?

Options:

1. = Sri Gupta

2. v Vishnu Gupta
3. » Samudragupta
4. » Ramagupta

Question Number : 63 Question Id : 54592734807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T JSTART KT JHTTH [T Fie o077
Options:

1.&811?}?
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3. ® HHGIICA
i R

4. = THICA

ST &



Question Number : 64 Question Id : 54592734808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who led the Chittagong Armoury Raid?

Options:

1. v Surya Sen

2. » Mahatma Gandhi

3. » Jawaharlal Nehru

4. = Subash Chandra Bose

Question Number : 64 Question Id : 54592734808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI AE T dAdcd fohgel foham om?

Options:

1. v & a0
2. % HGICAT I

3. * SIATELATe AB®

4.wg“a¢rsr€iaa’r\=r

Question Number : 65 Question Id : 54592734809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mahatma Gandhi launched the Kheda Satyagraha in to
help the cultivators of Gujarat who were going through a year
of near famine.

Options:

1. = 1915
2. v 1918
3. %1922
4. = 1925

Question Number : 65 Question Id : 54592734809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HEICHAT e o IoRTd & FoRaTer hr #Aeeg & ferw H
TST T T AR AT, ST U a¥ & 37ehTel I TUC # &
|

Options:

1. = 1915
2. v 1918
3. = 1922
4. = 1925

Question Number : 66 Question Id : 54592734810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the capital of Pallava Dynasty.

Options:

1. v Kanchipuram
2. = Pataliputra

3. » Taxila

4. » Badami

Question Number : 66 Question Id : 54592734810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toold IS1ael T TSTUTar AT

Options:

1.wsh‘i?hgm
2. * UEfoqT
3. = qarfRrer
4, = STGTAT

Question Number : 67 Question Id : 54592734811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Brahmo Samaj was started at in 1828 by Raja
Ram Mohan Roy.

Options:

1. * Mumbali

2. v Kolkata

3. » Bangalore
4. = Chandigarh

Question Number : 67 Question Id : 54592734811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TH Alga T SanT 1828 A H FEH AT =l
BT T 5 AT

Options:
1. » #og

2. v hielehTdl
3. * STAN
4, » A3G

Question Number : 68 Question Id : 54592734812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

She established the Central Hindu College in 1898 and is also
well known for her Home Rule movement. Who is she?

Options:

1. = Mother Teresa

2. v Annie Besant

3. #» Sarojini Naidu

4. = Vijaya Lakshmi Pandit

Question Number : 68 Question Id : 54592734812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3egia 1898 H iy fig AgTfagmery 1 Tumver &1 3R 370
TILHT IETelal & ToIlw T ST FATaT &1 a8 el &7

Options:

1. = HGT 4T

2. v TUar sSdc

3. * FUGET g

4. = TaomT w&dT 93T

Question Number : 69 Question Id : 54592734813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Subrahmanyam Chandrasekhar received the Nobel prize in
1983 for his contribution in the field of

Options:

1. = Peace

2. = Chemistry
3. v Physics
4. = Literature

Question Number : 69 Question Id : 54592734813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SCREERE TAEeET T 1983 A & 87 H 3o
ARSI & Tolw alsol TLERI IR

Options:

1. = eMfar
2. = IOl OaTeT

4. = @G

Question Number : 70 Question Id : 54592734814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sandeep Byala was the first person to receive the Arjuna
Award for

Options:

1. = Golf
2. = Football
3. » Archery
4. v Judo

Question Number : 70 Question Id : 54592734814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI STl & forw 310_1}1 EHRN AT Fla dTel TEal

=qTad o

Options:

1. % IeH

bl

Q.QW

3. x TaET

,-'_".I B

4. v S

Question Number : 71 Question Id : 54592734815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"India 2020 - A Vision for the New Millennium” is written by

Options:

1. ¥ Avul Pakir Jainulabdeen Abdul Kalam
2. » Rajendra Prasad

3. = Sarvepalll Radhakrishnan

4. = Ravindra Nath

Question Number : 71 Question Id : 54592734815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



'S8T 2020 - U Al BN g = fAdfaaA
ganT Terdr a8 ¥

Options:

1. v 3ol UTThT Stefell3iaclel 3sqel FollA
2. » Jolg 9dE

3. = FdYTee ITUTHT0TS

4. = TG «TeT

Question Number : 72 Question Id : 54592734816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following international organisations is not
based in Geneva?

Options:

1. = International Organization for Standardization

2. = International Labour Organization
3. » World Health Organization
4. v Food and Agriculture Organization

Question Number : 72 Question Id : 54592734816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaATel T H & le €1 3RS Hae folaar # U o160
g7

Options:

1. * 3ITSEIT ATAhRIUT TS
2. % TSI HATAF TS
3. » [aeg Tareey HIa4

4. v T 3R F¥ 4

Question Number : 73 Question Id : 54592734817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Indian-Australian mathematician Akshay Venkatesh won the
Nobel prize in 2014 for his contribution in the field of :

Options:

1. = Geography
2. = Physics

3. v Mathematics
4. = Chemistry

Question Number : 73 Question Id : 54592734817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT-AHE TS Mo A 3787 Jehe el Y *
87 H 3a% AeTere & v 2014 # ool [WERR Hem|

Options:

1. = sfamer
2. = et
3. v 0T

4. = TR QAT

Question Number : 74 Question Id : 54592734818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the upper age limit for appointment as a member of a
Union Commission?

Options:

1. v 65 years
2. % B2 years
3. = 70 years
4. = ]2 years

Question Number : 74 Question Id : 54592734818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HE 3MRNET & &8 & &0 # ogfera & fov st 3my dar
T §7?

Options:

1. v 65 aY
2. = 62 Ay
3.« 70 a¥
4, = 72 Ay

Question Number : 75 Question Id : 54592734819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which of the following amendments Goods and Services
Tax was introduced?

Options:

1. = 100
2. v 101
3. = 102
4. = 103

Question Number : 75 Question Id : 54592734819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafaa & & forq Helyer & @1 g% va dar HT 0L
TRaT =T UT?

Options:

1. = 100
2. v 101
3. = 102
4. = 103

Question Number : 76 Question Id : 54592734820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of 250 members of Rajya Sabha, members are
nominated by the President.

Options:

1. = 20
2. % 15
3.+ 18
4. v 12

Question Number : 76 Question Id : 54592734820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @AT o 250 @eedl # & HeEg sguld Ganl aTiAcd
frT ST B

Options:
1. = 20
2. % 15
3. % 18
4. v 12

Question Number : 77 Question Id : 54592734821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 170 states that the number of seats in the Legislative
Assembly of each State should not be more than

Options:

1. = 350
2. v 500
3. = 400
4. = 450

Question Number : 77 Question Id : 54592734821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Hlze 170 # FgT 9171 £ fF 93+ Uo7 Hr faurer qam |
el hr g&ar & 3Tk 8T &l I1gul

1. = 350

2. v B00

3. = 400

4. = 450

Question Number : 78 Question Id : 54592734822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following teams won the Premier Badminton
League in 2018-197?

Options:

1. v Bengaluru Raptors
2. » Hyderabad Hunters
3. * Chennal Smashers
4. = Delhi Dashers

Question Number : 78 Question Id : 54592734822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiFetfolaa St & & fopdet 2018-19 # WTAIT SsTAca offer
SIdT?

Options:

1.&*331@3%@
2. = BedIelg oy
3. » oz THH
4, = ool T

Question Number : 79 Question Id : 54592734823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



won Indian Premier League title 2019.

Options:

1. * Chennai Super Kings
2. v Mumbal Indians

3. » Kolkata Knight Riders
4. = Delhl Daredevils

Question Number : 79 Question Id : 54592734823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A =3« MAIT oler &1 Wae 2019 Siar|

1. = Weels U Toheq

2. ¢ ﬂa‘é sTeag

3. %= lolhIdl dI5e 384
4. = ool 33elded

Question Number : 80 Question Id : 54592734824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India finished Asian Wrestling Championships tournament
2019 held in Xian, China with a total of medals.

Options:

1. v 16
2. % 10
3. % 18
4. % 20

Question Number : 80 Question Id : 54592734824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HT o dUTeT o 3T H RN TRRET 3gTeer duaarerT
gatAe 2019 FT Fe Uceh & AT AT TR

Options:




1. v 16

Arithmetic Ability1
Group Number : 5
Group Id: 5459271725
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271725
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272069
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592734825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the valueof: 10 - 5 x4+ 8+ 2 =7
Options:

1. v 12



2. % 15
3. %18
4. % 21

Question Number : 81 Question Id : 54592734825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10+ 5% 4+8+2=7® oI A

Options:

1. ¢v 12
2. = 15
3. = 18
4. = 21

Question Number : 82 Question Id : 54592734826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number by which 1800 must be multiplied to
make it a perfect square.

Options:

1.+ 2
2. % 3
3.4
4 %5

Question Number : 82 Question Id : 54592734826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

98 sgelcH HEIT AT Y Tordeh ganT 1800 =T qUT Fel Sellel
% ferw aom foham STaT =fgv|

Options:

1. v 2
2. % 3




3. = 4
4. = 5

Question Number : 83 Question Id : 54592734827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Convert 11011101 binary to decimal.

Options:

1. = 218
2. % 219
3.% 220
4.« 221

Question Number : 83 Question Id : 54592734827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

11011101 Y FSeRT & THOT H FAART R

Options:

1. = 218
2. = 219
3. = 220
4. v 221

Question Number : 84 Question Id : 54592734828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: /(3 + /(27 + /(73 + /64))) = ?

Options:

1. %1
2. % 2
3.v3
4, « 4

Question Number : 84 Question Id : 54592734828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



V(B + V(27 + (73 + /64))) = ? F HeT AT B

Options:

1. = 1
2. % 2
3. v 3
4. % 4

Question Number : 85 Question Id : 54592734829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the product of the sum of digits of the smallest 4-digit
number divisible by 11 and the sum of the digits of smallest
4-digit number divisible by 13.

Options:

1. %1
2. % 2
3.v4
4, %6

Question Number : 85 Question Id : 54592734829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

11 & fenfoic glat aTel 4-37h1T TEAT & TH DI 3T FH
T 3T 13 T AT e aTel 4-31h~T T AT & g9d oI
3TRT o FANIT KT IOTeI el AT |

Options:

1. = 1
2. % 2
3.+ 4
4. % 6




Question Number : 86 Question Id : 54592734830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AmanhasRe. 1,Rs. 2and Rs 5 coinsin the raticof5:4: 3
and a total sum of Rs. 56. How many coins does he have in
total?

Options:

1.% 9
2. % 18
3.% 15
4. v 24

Question Number : 86 Question Id : 54592734830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk HEA F IR 5 : 4 : 3 F Hqard A 1 39, 2 39 3 5
m%%%ﬁiﬁrﬁw%m%lmwgﬁr
Trde TaeFh &7

Options:

1. = 9
2. = 18
3. = 15
4. v 24

Question Number : 87 Question Id : 54592734831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest number which on dividing 1029, 1670 and
2305 leaves a remainder of 5, 6 and 1 respectively.

Options:

1. = 64
2. v 128
3. % 192



4. % 256

Question Number : 87 Question Id : 54592734831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag ged §EI T&IT AT L S 1029, 1670 3T 2305 =r
eaiara e & o1 AT 5, 6 3T 1 AY BT &

Options:

1. = 64
2. v 128
3. = 192
4. = 256

Question Number : 88 Question Id : 54592734832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Free notebooks were distributed equally among children of a
class. The number of notebooks each child got was 1/8th of
the number of children. Had the number of children been
half, each child would have got 16 notebooks. How many
notebooks were distributed in total?

Options:

1. = 64

2. % 128
3. = 256
4. v 512

Question Number : 88 Question Id : 54592734832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ueh ETT & Soul I AT sllegsh Aid [hu a0 Tedesh sl
I fHeret aTell alegsh 1 TTAT STl T TEIT HT 1/8 T
feear oY 3R s=at T gEar 3 gd), ar uds s Hr 16
ategs AT Feol fhdel dMegs fadRd fhe aw 97

Options:

1. = 64
2. = 128
3. = 256
4. v 512

Question Number : 89 Question Id : 54592734833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1/3rd of X's savings in PPF is equal to 1/2 of his savings in NSC.
If he has a total of Rs. 30,000 in savings, how much has he
saved in PPE?

Options:

1. v 18000
2. % 15000
3. = 21000
4. % 19500

Question Number : 89 Question Id : 54592734833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PPF & X &hT s/=ad &7 1/3 aTf NSC #H 3ThT s=d o 1/2 &
SEN & 3R 38 919 §9d ﬁ'ghel 30,000 T &, ar 39«
PPF & Tordeil s hr &7

Options:

1. ¢ 18000
2. = 15000




3. = 21000
4. = 19500

Question Number : 90 Question Id : 54592734834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X gets in the elevator on the 11th floor of a building and goes
up at the rate of 38 floors per minute. At the same time, Y gets
in an elevator on the 51st floor of the same building and goes
down at the rate of 42 floors per minute. If they continue
travelling at these rates, then at which floor will their paths
Cross?

Options:

1. = 24
2. % 20
3. % 28
4. v 30

Question Number : 90 Question Id : 54592734834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X SARCT $T 11 o A W fove & Tedr & 3 ufad @ece
38 ATl hr T & IUT AT &1 39T §AY, Y 38T SART I
51 df Afolel 9 fo%e A <&ar & 3R uld fAdc 42 AfsTell $r
T O At ST &1 Ifg 3 8T T W IATET FAT SINT & &,
ar T AT 9T 3ah ITEd 9 g

Options:

1. = 24
2. % 26
3. = 28
4, v 30




Question Number : 91 Question Id : 54592734835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the effective discount for 2 successive discounts of 40
percent and 10 percent?

Options:

1. v 46 percent
2. » 48 percent
3. = 50 percent
4. = 44 percent

Question Number : 91 Question Id : 54592734835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40 vfderd 3R 10 9faerd & 2 HiAS o & v gHmEl S
T &7

Options:

1. v 46 gfcerd
2. = 48 yfaerd
3. = 50 ufcrerd
4, = 44 gfaerd

Question Number : 92 Question Id : 54592734836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average cost of 2 bananas and 3 apples is Rs. 72 and the
average cost of 4 bananas and 3 apples is Rs. 90. Find the total
cost of 18 bananas and 18 apples.

Options:

1. = Rs. 2790
2. » Rs. 2850
3. # Rs. 2010
4. v Rs. 2970



Question Number : 92 Question Id : 54592734836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 el 3R 3 OF T AT o 72 9T § 3N 4 Feh 3N 3
T T HFT omETT 90 FF &1 18 Fel 3R 18 AT HT Fel

CIEGESEIGECTY

Options:

1. = 2790 ®UU
2. = 2850 34U
3. = 2910 34U
4. v 2970 0T

Question Number : 93 Question Id : 54592734837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car owner buys petrol at Rs. 8, Rs. 10 and Rs. 40 per litre for
3 consecutive years. What approximately is the average cost
per litre of petrol if he spends Rs. 40000 each year?

Options:

1.+ Rs. 12
2.% Rs.12.5
3. = Rs. 15
4. = Rs. 18

Question Number : 93 Question Id : 54592734837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk T Alfeleh 9aR 3 g9 & v 8 9, 10 93 3iw 40
SO YT olled & T8ae & dUdlel THIedr &1 39N I8 &L ay

40,000 9T T AT &, dF Uerel @l UTd elied 3 ad arerd
SIaTaT TehcIall &7

Options:

1. v 12 39




2. = 125 39
3. = 15 U
4. = 18 &

Question Number : 94 Question Id : 54592734838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There was an overall drop of 40 percent in the price of a
product. The initial decrease in the price was to Rs. 80 from
Rs. 100. What was another decrease so as to show the overall
drop?

Options:

1. = 20 percent
2. v 25 percent
3. = 30 percent
4. » 12.50 percent

Question Number : 94 Question Id : 54592734838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uqajcmqﬁrﬁm?rﬁgmmmm%rﬁmimﬁmﬁﬁ
TR TS FAT 80 T & 100 F9T 2ff| Fo fRmae @ +
T v 3T FAT FAT 4

Options:

1. = 20 wfaera
2. v 25 yiaera
3. = 30 gfaera
4. = 12.50 ufoerd

Question Number : 95 Question Id : 54592734839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



X scored 48 percent marks in a test and failed by 14 marks.
Had he scored 53 percent in the same test, he would have
passed by 21 marks. What is the passing marks of that test?

Options:

1. = 315
2. v 350
3. = 385
4. % 420

Question Number : 95 Question Id : 54592734839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X o 9fieT 7 48 wufaera 3 ured Fv 3T 14 31l & 9%
TET| I&T 38 38T e & 53 ufdera 3k giider frv g, ar
g 21 3l & U & ATdr| 39 WIET # 3cdlior 3 41 87

Options:

1. = 315
2. v 350
3. = 385
4. = 420

Question Number : 96 Question Id : 54592734840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a right circular cylinder is increased by 10
percent and the height is decreased by 20 percent. What Is
percentage change in the volume of the cylinder?

Options:

1. v 3.2 percent decrease
2. = 3.2 percent increase
3. » 21 percent increase



4. = 21 percent decrease

Question Number : 96 Question Id : 54592734840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh HHRIUT MR ez T BT 10 vigerd @ §¢ Sar &
T FEE 20 ufaera & A & Jar &1 Belst & 3ade #
forder ufaera gRada &7

Options:

1. v 3.2 Ufaerd gcE
2. = 3.2 yfcrerd s@d
3. = 21 ufderd s@a
4, = 21 ufderd gerg

Question Number : 97 Question Id : 54592734841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was sold for Rs. 4000. Had a discount of 10 percent
was being offered, the profit would have been 20 percent, find
the cost price.

Options:

1. v Rs. 3000
2. % Rs. 3200
3. = Rs. 3310
4. = Rs. 3600

Question Number : 97 Question Id : 54592734841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk F HT 4000 FUF H S=m aw=r 27| 10 faerd Fro ge &
ST Ter 2T, e 20 widerd glem, oerid Hed Al Hi|

Options:

1. v 3000 &9




2. = 3200 ¥
3. = 3310 *
4. = 3600 ¥9

Question Number : 98 Question Id : 54592734842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the selling price is tripled, the profit goes upto 5 times. Find
the profit percent.

Options:

1. = 50 percent

2. v 100 percent
3. = 150 percent
4. = 200 percent

Question Number : 98 Question Id : 54592734842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife forehT Hed el [T &, 7 oTeT 5 AT & ST &1 ot

gfaerd AT S
Options:
1. = 50 ufgera

2. v 100 viaerd
3. = 150 ufaerd
4. = 200 ufderq

Question Number : 99 Question Id : 54592734843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The percentage of profit earned by selling an article for Rs.
1800 is equal to the percentage of loss incurred by selling the
same article for Rs. 1200. At what price should the article be
sold to make 50 percent profit?

Options:



1. v Rs. 2250
2. » Rs. 2400
3. %= Rs. 2700
4. » Rs. 1800

Question Number : 99 Question Id : 54592734843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1800 39 # Uk TFd HI s TRl amey FT ufderd 34T a&d
T 1200 9 & dual & gl Tl Johdlel & Uiderd & sied g
50 wfcerd o fferet & folv avd T foha AT 9T &=

ST ATET?

Options:

1. v 2250 9
2. % 2400 9
3. » 2700 T9
4. = 1800 T9

Question Number : 100 Question Id : 54592734844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F and G together have Rs. 3500, if 4/5 of F’'s amount is equal to
8/15 of G's amount, then how much does G have?

Options:

1. » Rs. 1800
2. » Rs. 1950
3. v Rs. 2100
4. % Rs. 2250

Question Number : 100 Question Id : 54592734844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



F 3T G & 99 f@er ¢ 393 3500 &, Ifg F & 4/5 &1 gfer
G =Tl 8/15 UM & s &, A G & 9 Tohdar JTer &7

Options:

1. = 1800 9@
2. = 1950 T4UU¢
3. v 2100 z9v¢
4. » 2250 BT

Arithmetic Ability?2
Group Number : 6
Group Id : 5459271726
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271726
Section Number : 1
Section type: Online
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Question Number : 101 Question Id : 54592734845 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



If 15 apples cost as much as 6 strawberries, 2 strawberries
cost as much as 16 bananas, 6 bananas cost as much as 15
potatoes, then what is the cost of 1 potato if an apple costs Rs.
2007

Options:

1. = Rs. 250
2. v Rs. 25

3. % Rs. 225
4. = Rs. 225

Question Number : 101 Question Id : 54592734845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe 15 AF T HTAT 6 TIHT F ST &, 2 TEENT hl HTA
16 ail & sHTe &, 6 ol T HIAT 15 3T aTe &, ar 1
HTe[ T AT a7 § G v e Hr HrAT 200 T 72

Options:

1. = 250 ¥9&
2. v 25 34

3. = 225 U3
4, « 225 39

Question Number : 102 Question Id : 54592734846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfA:B=3:4B:C=2:3andC:D=5:6, then what is the
valueof A:B:C:D?

Options:

1.+15:20:30: 36
2.%x15:20:30:33
3.%18:20:30:36



4. % 18:20:30:33

Question Number : 102 Question Id : 54592734846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JfTA:B=3:4B:C=2:33WC:D=5:6% ar
A:B:C: D HT FT&°

Options:

1. v 15 : 20 : 30 : 36
2. % 15 :20 :30 : 33
3. = 18 : 20 : 30 : 36
4, = 18 : 20 : 30 : 33

Question Number : 103 Question 1d : 54592734847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs. 12,000 amounts to Rs. 14,400 in 4 years at the
rate of simple interest. What is the rate of interest?

Options:

1. = 4 percent
2.« 4.33 percent
3. = 4.67 percent
4. v 5 percent

Question Number : 103 Question Id : 54592734847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTYROT sATST hT &7 & 4 a9 & 12,000 5923 Fr Tafer 14,400
¥ g% & SIS X AT §7

Options:

1. = 4 yfderd
2. = 4.33 yfderd
3. = 4.67 ufdera




4. v 5 gfgera

Question Number : 104 Question Id : 54592734848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

At what rate of compound interest per annum will a sum of
Rs. 12,000 become Rs. 13,230 in 2 years?

Options:

1. v 5 percent
2. » 4.50 percent
3. % 6 percent
4. = 5.50 percent

Question Number : 104 Question Id : 54592734848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 a¥ # Torclal Wil aY Tshgig sATS =T & W 12,000 39 &
13,230 39T g A=

Options:

1. v 5 ufaerd
2. = 4.50 ufcera
3. » 6 gfderd
4. = 5.50 ufcera

Question Number : 105 Question Id : 54592734849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest on a certain sum for 2 years at 10
percent is Rs. 1680. What will be the simple interest on the
same sum for double the time and at half the rate percent per
annum?

Options:

1. = Rs. 1200
2. v Rs. 1600



3. * Rs. 1500
4. » Rs. 1800

Question Number : 105 Question Id : 54592734849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 aur % forw 10 ufderd W e @fRaa offr w owafe sa9
1680 ¥ 1 THTST ANT IT S AT 3R 3T eX alaay
T T & TTYROT ATl AT EIT?

Options:

1. = 1200 392
2. v 1600 39
3. = 1500 9
4. = 1800 TU

Question Number : 106 Question Id : 54592734850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of speeds of two cars 1s 10 : 11. If the first car travels
a distance of 500 kms in 10 hours, what 1s the speed of the
second car?

Options:

1. = 44 km/h
2. v 55 km/h
3. = 66 km/h
4. = 77 km/h

Question Number : 106 Question 1d : 54592734850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& R T A0 1 3 10 11 &1 IS ggell R 10 & H
500 km T gl T FLAT &, A GEET FI T aTfd a7 87

Options:




1. = 44 km/h
2. v 55 km/h
3. = 66 km/h
4. = 77 km/h

Question Number : 107 Question Id : 54592734851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man on a tour travels the first 120 km at 60 km/h, the next
320 km at 80 km/h and the last 80 km at 40 km/h. What is the
average speed of the journey?

Options:

1. v 65 km/h
2. = 70 km/h
3. » 72 km/h
4. = 64 kim/h

Question Number : 107 Question Id : 54592734851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

U =gfard g 9T ggel 120 km &1 gdr 60 km/h, 37eTel 320
km =T &I o 80 km/h 3T 31fdH 80km T it 40 km/h o
ATAT AT &1 IrET ST sitEa ot =T &

Options:

1. v 65 km/h
2. = 70 km/h
3. = 72 km/h
4. = 64 km/h

Question Number : 108 Question Id : 54592734852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man travelled a distance of 89 km in 13 hours. He travelled
partly by foot at 5 km/h and partly by bicycle at 8 km/h. What
1s the distance travelled on foot?

Options:

1. v 25 km
2. % 20 km
3. % 35 km
4. % 30 km

Question Number : 108 Question Id : 54592734852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh T o 13 8¢ # 89 Km =T gl T 1| 38e 30k &9
O %eor 5 km/h & 3T 3o &9 & GEfere 9w 8km/h & mam
ST Uge T T T S glT T &7

Options:

1. v 25 km
2. = 20 km
3. = 35 km
4. = 30 km

Question Number : 109 Question Id : 54592734853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can finish a work in 18 days and B can do the same work in
15 days. B worked for 10 days alone and left the job. In how
many days, A alone can finish the remaining work?

Options:

1. %3
2.5 4
3.%5



4, v 6

Question Number : 109 Question Id : 54592734853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A FTH T 18 Teall # T T Fehall § 3T B TaT F1A 15 Tt
H FT Ghdrl &1 B o 37hel 10 ol der s1d Tohar 3T dledr
315 al fhasr el &, A 30hel AY FF W F TohaT &7

Options:

1. = 3
2. % 4
3. # 5
4. v 6

Question Number : 110 Question Id : 54592734854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Is twice as efficient as B who is thrice as efficient as C. If C
alone can do a work in 30 days, in how many days can they
together do the work?

Options:

1.+ 3
2. % 4
3.5
4. %6

Question Number : 110 Question 1d : 54592734854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B & 2T Ferel & ST C F olef [T herer g1 Il C 3rehel
30 f&at & UFh FTH FT Tkl &, dr T forder &t & v @rer

HIH FT ohd &7

Options:




1. v 3
2. = 4
3. % 5
4, = 6

Question Number : 111 Question Id : 54592734855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a work in 20 days while B can do it in 80 days. After
working together for 8 days, both of them stop working. C
resumes the work and finishes it. If C can do the whole work
alone in 12 days, then how many days he would have taken to
finish the work?

Options:

1.+ 6
2. % 12
3.%9
4 = 8

Question Number : 111 Question Id : 54592734855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T &R & 20 e & T GohdT § STafh B 38 80 f&ar &
F ThdT &1 8 Tl I Ush AT FIH Flal & §Ig, alal o
HFTH LT de T fear T C FH1A # o4& wLar § A 38
T AT &1 I C I 1A F 12 el # 3rhel T TohT &,
dr A T e H 38 fohdal feT o@er

Options:

1. v 6
2. % 12




3. # 9
4. = 8

Question Number : 112 Question Id : 54592734856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the radius and height of a cone measure 7 cm and 24 ¢cm
respectively, then find the lateral surface area of the cone?

Options:

1. v 550 sq cm
2. % 770 sq cm
3. *= 630 sq cm
4. = 660 sq cm

Question Number : 112 Question Id : 54592734856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg ek T B2 3 3915 7 AT FAT: 7 cm 3R 24 cm
g, o eI & URT TcE &F N ATT F?

Options:

1. v 550 sq cm
2. % 770 sq cm
3. » 630 sq cm
4. = 660 sq cm

Question Number : 113 Question Id : 54592734857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the length and breadth of a rectangle is 5: 6 and

its area is 6750 cmz. Find the ratio of the length to the area of
the rectangle.

Options:

1. 1:80



2.%1:84
3.+ 1:100
4. «1:90

Question Number : 113 Question Id : 54592734857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh I hT ofeTg 3N TISTE T 39T 5 : 6 & AT 587

gT%e 6750 c:m2 g1 3 o &1A%el hT FSTS FT 3Heqdld AT
Corgl

Options:

1. = 1 : 80
2. = 1 : 84
3. = 1 :100
4. v 1 : 90

Question Number : 114 Question 1d : 54592734858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cube whose diagonal is 27+/3 cms is melted and made into a
cuboid, its length and breadth measure 81 cm and 243 cm
respectively. Find the height of the cuboid.

Options:

1.+v1cm
2. % 1.5 cm
3.% 2cCcm
4, % 2.5 Cm

Question Number : 114 Question Id : 54592734858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Th Tl Tt [RoT 274/3 cm & 38 Mgemar s=m 3w gerss
ST 34T, TS hT oems 3 diss wAT: 81 cm 3T 243 cm
& g T e AT R

Options:

1. v 1 cm
2. « 1.5 cm
3. % 2 cm

4. = 2.5 cm

Question Number : 115 Question Id : 54592734859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The pie chart shows the proportionate population of 7
villages. If the difference between the population of villages D
and E is 1500, then what is total population of the 7 villages?

Population of Villages

Options:

1. = 84000
2. » 96000
3. = 72000
4. v 108000

Question Number : 115 Question Id : 54592734859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IS TE 7 NGl T MMe[dTicish STEr T aeiiar g1 Ife D 31

E anat sk SIEET 1 37T 1500 &, a1 7 amal 1 Fel STaaed]
fordaiT &7

amat i e

Options:

1. = 84000
2. = 96000
3. = 72000
4. v 108000

Question Number : 116 Question Id : 54592734860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the revenue and various expenses for a
firm for the year 2018. What is the profit margin?

Re\renue & various expenses for a firm
I.'telivﬂ'y

Ghargen, 100

4
-~

Options:

1. = 15 percent

Revenue 1200

2. v 16.67 percent
3. = 18.33 percent
4. = 20 percent

Question Number : 116 Question Id : 54592734860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

o5 ¢ g¥ 2018 & v wH & o 3K Bffea ==t i
2T &1 oI ATTolel HT &7

TF & & v goee 3k Rt @

, T THE , 100
TEUH F Y

220
A, 80 TH, 1200
#7 , 100

wdt

Options:



1. = 15 yfcerd
2. v 16.67 ufaerd
3. = 18.33 wfcerd
4. % 20 wfarerd

Question Number : 117 Question Id : 54592734861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The pie chart shows the distribution of costs of making a soft
drink. If the company pays Rs. 24,000 for transporting 1200
bottles, what is the packaging cost of 15 bottles of the drink?

Distribution of costs of making a soft drink

cm";.;nm"lin* Transportation,
15%

Retailer Margin,
20%

Distributor Margin,
%

Advertising, 4% % Packaging,

40%
Drawing and
treating water, 8%

Options:

1. = 600
2. % 640
3. = 720
4.« 800

Question Number : 117 Question Id : 54592734861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s A1E Uk ofidel 9T Fallal hl oeTdl & 3aeor Y Zeiar &
ATE FTaT 1200 el o IRage & folv 24,000 T9F T
HITATS HIAT &, T T k1 15 STl k1 UehTolaT aAETT FAT 87

ftas O = Y Frrar F1 Raor

T AllaA=

8% aftage , 15%

s mfae
e, e
et i A
PNV O, Y, 40%
Options:
1. = 600
2. * 640
3. = 720
4. v 800

Question Number : 118 Question Id : 54592734862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following histogram shows the quantity (in million kg)
imported by India from 2014-2018. For how many years is the
gquantity imported higher than the average quantity imported
across all years?

220

210

£ 150

2014 2015 2016 2017 2018
Year

Options:

1. % 2
2.v 3
3.5 4
4. %1

Question Number : 118 Question Id : 54592734862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafeli@a smaf=a 2014-2018 & $Rd SaRT AITIT AT
(fAfoe kg #) =1 gefar &1 forae @t & forw s &1 18
AT @3 Gt & 3marg v a2 sitaa AT @ 9w 7

220

210

2014 2015 2016 2017 2018

Options:



1. = 2
2. v 3
3. % 4
4, % 1

Question Number : 119 Question Id : 54592734863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following bar chart shows the quantity (in million kg) of
jute exported by India from 2013-2018. For how many years
is the quantity exported higher than the average quantity
exported across all years?

400
350

340
200
250 . 210
o 200 150 150
g 150 120
100
50
0
2013 2014 2015 2016 2017 2018
Year

Options:

1.+ 3
2.% 4
3.% 5
4, % 2

Question Number : 119 Question Id : 54592734863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foreT % A€ 2013-2018 & #Ra zanT fardfd 1 a1 S
AT (Ao kg #) o1 gefar &1 frae ant & B g &
s AT @Y ant 7 fauta $r S g AT @ 3w &2

400
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Options:

1. v 3
2. % 4
3. % 5
4., = 2

Question Number : 120 Question Id : 54592734864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The histogram shows the foreign exchange reserves of a
country (in $ US million) from 2010-2011 to 2017-2018. For
which year, the percent increase of foreign exchange reserves
over the previous year, is the highest?

HERR

Foreign Exch ange AReverves of a Coun

=

2000-0011  2001-2002 2002-20013 2013-2004 2014-2015 2005-2016 2006-2017 2017-2018
Year

Options:

1. = 2011-2012
2. % 2013-2014
3. v 2015-2016
4. » 2016-2017

Question Number : 120 Question Id : 54592734864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3IEfRT 2010-2011 & 2017-2018 g% wF 2o (S US fafeae
H) & el e B3R FI i g1 g av & fov, Mo ay
hT Torelm 7 facelT Her S hr vfcrerdT gig ged 3fae &7

.

XN

et Zwr wr frdelt e wEw

g

010-2001  2011-2012 2012-2013 2003-2014 2004-2015 2015-2006 2016-2017 2017-2018

ol
Options:
1. = 2011-2012
2. = 2013-2014
3. v 2015-2016
4. = 2016-2017

General English1

Group Number : 7
Group Id: 5459271727
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459271727

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272071
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592734865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Vinod thought / if he could pulled / the chain and stop the
train.

Options:

1. = Vinod thought

2. v 1f he could pulled

3. = the chain and stop the train.
4. » No Error

Question Number : 121 Question Id : 54592734865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Vinod thought / if he could pulled / the chain and stop the

train.

Options:

1. = Vinod thought
2. v If he could pulled

3. = the chain and stop the train.

4. = No Error

Question Number : 122 Question 1d : 54592734866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Babulal lost / his security deposit / in the last elections.

Options:

1. = Babulal lost

2. = his security deposit
3. = In the last elections.
4. v No Error

Question Number : 122 Question Id : 54592734866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Babulal lost / his security deposit / in the last elections.

Options:

1. = Babulal lost

2. % his security deposit
3. * In the last elections.
4.

¢ No Error

Question Number : 123 Question Id : 54592734867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

The opposition leaders / unanimously decided to / walk out
from the House.

Options:

1. = The opposition leaders

2. » unanimously decided to
3. » walk out from the House.
4. v No Error

Question Number : 123 Question Id : 54592734867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

The opposition leaders. / unanimously decided to / walk out

from the House.

Options:

1. = The opposition leader.

2. ®» unanimously decided to
3. = walk out from the House.
4,

v No Error

Question Number : 124 Question 1d : 54592734868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

Bharti has two sisters and a brother / both of them / live
under one roof.

Options:

1. » Bharti has two sisters and a brother
2. v both of them

3. = live under one roof.

4. = No Error

Question Number : 124 Question Id : 54592734868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

Bharti has two sisters and a brother / both of them / live

under one roof.

Options:

1. = Bharti has two sisters and a brother
2. v both of them

3. % |live under one roof.

4. = No Error

Question Number : 125 Question 1d : 54592734869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select
the part of the sentence that has an error. If the sentence has
no error, select the option 'No Error’.

The mountains in this region / are very steep / to be
conquered.

Options:

1. * The mountains in this region
2. v are very steep

3. »= 1o be conquered.

4. » No Error

Question Number : 125 Question Id : 54592734869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentence below has been divided into three parts.
Select the part of the sentence that has an error. If the

sentence has no error, select the option 'No Error'.

The mountains In this region / are very steep / to be

conquered.

Options:

1. * The mountains In this region
2. v are very steep

3. = to be conquered.
4.

# No Error

Question Number : 126 Question 1d : 54592734870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the
sentence meaningfully.

Please call and let me know when you reach home.

Options:

1. = you will reach home

2. = you reach to home

3. *» you have reached to home
4. v No correction required

Question Number : 126 Question Id : 54592734870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the

sentence meaningfully.

Please call and let me know when you reach home.

Options:

1. = you will reach home
2. % you reach to home
3. ® you have reached to home

4. v No correction required

Question Number : 127 Question Id : 54592734871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the
sentence meaningfully.

Alok as well as Arun are related to Abhay.

Options:

1. v is related to Abhay

2. = were related to Abhay
3. = related to Abhay

4. = No correction required

Question Number : 127 Question Id : 54592734871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the

sentence meaningfully.

Alok as well as Arun are related to Abhay.

Options:

1. v I1s related to Abhay
2. » were related to Abhay
3. # related to Abhay

4. = No correction required

Question Number : 128 Question Id : 54592734872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the
sentence meaningfully.

Everybody in the hall were praising her performance.

Options:

1. = are praising her performance

2. v was praising her performance
3. » was praised her performance

4. = No correction required

Question Number : 128 Question Id : 54592734872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the

sentence meaningfully.

Everybody in the hall were praising her performance.

Options:

1. = are praising her performance
2. v was praising her performance
3. * was praised her performance

4. = No correction required

Question Number : 129 Question Id : 54592734873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the
sentence meaningfully.

Either Gaurav or Saurav have written that note.

Options:

1. v has written that note
2. *» have wrote that note
3. = has wrote that note

4. = No correction required

Question Number : 129 Question Id : 54592734873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the

sentence meaningfully.

Either Gaurav or Saurav have written that note.

Options:

1. v has written that note
2. = have wrote that note
3. # has wrote that note

4. = No correction required

Question Number : 130 Question Id : 54592734874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the
sentence meaningfully.

I always know that one day you would make a big name for
yourself.

Options:

1. v I always knew that

2. = [ always known that

3. = I alway knew that

4. = No correction required

Question Number : 130 Question Id : 54592734874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word segment that substitutes (replaces) the
highlighted word segment correctly and completes the

sentence meaningfully.

| always know that one day you would make a big name

for yourself.

Options:

1. v | always knew that
2. » | always known that
3. = | alway knew that

4, = No correction required

Question Number : 131 Question 1d : 54592734875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The boys the puppy out of the ditch.

Options:

1. = pushed
2. v pulled

3. = laid

4. = thrust

Question Number : 131 Question 1d : 54592734875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The boys the puppy out of the ditch.

Options:

1. = pushed
2. v pulled

3. = laid

4. = thrust

Question Number : 132 Question Id : 54592734876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The priest told the hiding convict that he was by the
President.

Options:

1. = forgotten
2. » exited

3. = donated
4. v pardoned

Question Number : 132 Question Id : 54592734876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The priest told the hiding convict that he was by
the President.

Options:

1. = forgotten
2. % exited
3. = donated

4. v pardoned

Question Number : 133 Question Id : 54592734877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The mother bird the damaged egg.

Options:

1. v abandoned
2. » mollified
3. = revealed
4, = gesticulated

Question Number : 133 Question Id : 54592734877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The mother bird the damaged egqg.

Options:

1. v abandoned
2. = mollified

3. # revealed
4.

» gesticulated

Question Number : 134 Question Id : 54592734878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The monk was seen around in the forest.

Options:

1. v wandering
2. = wondering
3. = lambasting
4. = eulogizing

Question Number : 134 Question Id : 54592734878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The monk was seen around in the forest.

Options:



1. v wandering
2. = wondering
3. ® lambasting
4. = eulogizing

Question Number : 135 Question Id : 54592734879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The police the suspect throughout the night to find clues.

Options:

1. = abrogated
2. v Interrogated
3. = abnegated
4. = masticated

Question Number : 135 Question Id : 54592734879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The police the suspect throughout the night to find

clues.

Options:

1. = abrogated
2. v Interrogated

3. * abnegated



4. = masticated

Question Number : 136 Question Id : 54592734880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

You can avoid probable accidents if you drive

Options:

1. = careful
2. v carefully
3. = cautious
4. = cautionly

Question Number : 136 Question Id : 54592734880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

You can avoid probable accidents if you drive

Options:

1. = careful
2. v carefully
3. % cautious

4. = cautionly

Question Number : 137 Question Id : 54592734881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes
the sentence meaningfully.

will give me the advice that I need so badly?

Options:

1. * Whom
2. » Whose
3. = Which
4. v Who

Question Number : 137 Question Id : 54592734881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

will give me the advice that | need so badly?

Options:

1. = Whom
2. * Whose
3. = Which
4. v Who

Question Number : 138 Question Id : 54592734882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and completes
the sentence meaningfully.

The hungry kids gobbled up the food :

Options:

1. v voraciously



2. » extremely
3. = variously
4. = diligently

Question Number : 138 Question Id : 54592734882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that fills in the blank correctly and

completes the sentence meaningfully.

The hungry kids gobbled up the food

Options:

1. v voraciously
2. % extremely
3. = variously
4. = diligently

Question Number : 139 Question Id : 54592734883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and labeled
P, Q, R and S. Select the option that gives the correct sequence
in which these parts can be rearranged to form a meaningful

and grammatically correct sentence.

P: In the management of international affairs
QQ: politicians who formulate policies

R: there is a barrier between

S: and the professionals who implement it

Options:

1. v PRQS



2. » PQRS
3. » PSRQ
4. » QSRP

Question Number : 139 Question Id : 54592734883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some parts of a sentence have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence In which these parts can be rearranged to

form a meaningful and grammatically correct sentence.

P: In the management of international affairs
Q: politicians who formulate policies
R: there 1s a barrier between

S: and the professionals who implement it

Options:

1. v PRQS
2. = PQRS
3. » PSRQ
4. = QSRP

Question Number : 140 Question Id : 54592734884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, QQ, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: We started the gastronomic treat with an appetiser.

(. For the main course, we ordered some Indian vegetables
and breads.

R: Last Sunday, we dined at the Spize Mahal.

S: We finished the dinner with a mint-flavoured dessert.

Options:

1. v RPQS
2. * PQRS
3. * SRPQ
4. = QPSR

Question Number : 140 Question Id : 54592734884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumbled up, and
labeled P, 3, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: We started the gastronomic treat with an appetiser.

Q: For the main course, we ordered some Indian vegetables
and breads.

R: Last Sunday, we dined at the Spize Mahal.

S: We finished the dinner with a mint-flavoured dessert.



Options:

1. v RPQS
2. = PQRS
3. = SRPQ
4. = QPSR
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Question Number : 141 Question Id : 54592734885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, QQ, R and S. Select the option that gives the correct
sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: The news of the reptile visitor spread like a wildfire.

(Q: One of those days, someone spotted a crocodile in the
village lake.

R: Soon, orders were issued that no child was to go towards
the lake or to the orchard, which was just across the lake.

S: As a result, we were forced to look for another activity that
could keep us occupied and out of harm’s way.

Options:

1. = RQPS
2. = PQRS
3. v QPRS
4. = RQSP

Question Number : 141 Question Id : 54592734885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and
labeled P, Q, R and S. Select the option that gives the
correct sequence in which these sentences should be

rearranged to form a meaningful paragraph.

P: The news of the reptile visitor spread like a wildfire.
Q: One of those days, someone spotted a crocodile in the
village lake.

R: Soon, orders were i1ssued that no child was to go
towards the lake or to the orchard, which was just across
the lake.

S: As a result, we were forced to look for another activity

that could keep us occupied and out of harm’s way.

Options:

1. = RQPS
2. = PQRS
3. v QPRS
4. = RQSP

Question Number : 142 Question Id : 54592734886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the word that is closest in meaning (SYNONYM) to the
word given below.

RADIANT

Options:

1. * Modern



2. v Luminous
3. = Critical

4. = Trivial

Question Number : 142 Question Id : 54592734886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that Is closest in meaning (SYNONYM) to

the word given below.

RADIANT

Options:

1. = Modern
2. v Luminous
3. = Critical

4. = Trivial

Question Number : 143 Question Id : 54592734887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is closest in meaning (SYNONYM) to the
word given below.

ONEROUS

Options:

1. v Arduous

2. » Illusive

3. * Unanimous
4. » Harmonious

Question Number : 143 Question Id : 54592734887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word that Is closest in meaning (SYNONYM) to

the word given below.

ONEROUS

Options:

1. v Arduous
2. % |llusive
3. # Unanimous

4. = Harmonious

Question Number : 144 Question Id : 54592734888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is opposite in meaning (ANTONYM) to
the word given below.

ABHOR

Options:

1. » Embark

2. = Jeopardize
3. = Loathe

4, v Admire

Question Number : 144 Question Id : 54592734888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that 1s opposite iIn meaning (ANTONYM) to

the word given below.

ABHOR

Options:



1. = Embark
2. = Jeopardize
3. »= Loathe
4. v Admire

Question Number : 145 Question Id : 54592734889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank
and makes the sentence meaningful.

The cat licked its :

Options:

1. = pause
2. v Paws
3. % paos
4. = pawes

Question Number : 145 Question Id : 54592734889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank

and makes the sentence meaningful.

The cat licked its

Options:

1. = pause
2. v paws
3. ® paos
4

. % pawes



Question Number : 146 Question 1d : 54592734890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank
and makes the sentence meaningful.

The emperor out terrible punishment to rebels.

Options:

1. » meated
2. » meeted
3. v meted
4. = mited

Question Number : 146 Question 1d : 54592734890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct word (HOMONYM) that fills in the blank

and makes the sentence meaningful.

The emperor out terrible punishment to rebels.

Options:

1. = meated
2. = meeted
3. v meted

4. = mited

Question Number : 147 Question 1d : 54592734891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. v Adversity
2. = Advercity



3. » Adversety
4. = Advarsity

Question Number : 147 Question Id : 54592734891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. v Adversity
2. » Advercity
3. = Adversety
4, = Advarsity

Question Number : 148 Question 1d : 54592734892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Coglomeration

2. v Conglomeration
3. = Cognomeration
4. = Congomoration

Question Number : 148 Question 1d : 54592734892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Coglomeration
2. v Conglomeration
3. » Cognomeration

4. = Congomoration

Question Number : 149 Question Id : 54592734893 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. » Rennaissence
2. * Rennaissance
3. v Renaissarnce

4. = Renneissance

Question Number : 149 Question Id : 54592734893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is spelled correctly.

Options:

1. = Rennaissence
2. * Rennaissance
3. v Renaissance

4. = Renneissance

Question Number : 150 Question Id : 54592734894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To be at cross purposes

Options:

1. v To misunderstand each other
2. = To prepare false accounts

3. = To be patient with someone
4. = To reduce one’s use of it

Question Number : 150 Question Id : 54592734894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that best expresses the meaning of the

idiom or phrase given below.

To be at cross purposes

Options:

1. v To misunderstand each other
2. = To prepare false accounts

3. = To be patient with someone
4.

* o reduce one's use of it

Question Number : 151 Question Id : 54592734895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To be at one’'s wits' end

Options:

1. v To be unable to decide what is to bhe done
2. » To near the end of one’s career

3. = To be closer to one’s death

4. = To talk nonsensically

Question Number : 151 Question Id : 54592734895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To be at one's wits' end

Options:



1. v To be unable to decide what I1s to be done
2. * To near the end of one's career

3. = To be closer to one's death
4,

* To talk nonsensically

Question Number : 152 Question Id : 54592734896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the idiom
or phrase given below.

To eat a humble pie

Options:

1. » To eat at home rather than at a restaurant
2. = To accept a bribe or kickbak

3. v To apologize humbly

4. = To eat a lot of food

Question Number : 152 Question Id : 54592734896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best expresses the meaning of the

idiom or phrase given below.

To eat a humble pie

Options:

1. = To eat at home rather than at a restaurant
2. » To accept a bribe or kickbak

3. v To apologize humbly
4

. % To eat a lot of food



Question Number : 153 Question 1d : 54592734897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word’ for the expressions
given below.

Study of historic or prehistoric material remains

Options:

1. = Ethnology

2. = Architecture
3. v Archaeology
4. = Psephology

Question Number : 153 Question 1d : 54592734897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word' for the expressions

given below.

Study of historic or prehistoric material remains

Options:

1. = Ethnology

2. = Architecture
3. v Archaeology
4, = Psephology

Question Number : 154 Question 1d : 54592734898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word’ for the expressions
given below.

The one who doubts the existence of God



Options:

1. = Gnostic
2. = Atheist
3. v Agnostic
4. » Theist

Question Number : 154 Question 1d : 54592734898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word' for the expressions

given below.

The one who doubts the existence of God

Options:

1. = Gnostic
2. = Atheist
3. v Agnostic
4. = Theist

Question Number : 155 Question Id : 54592734899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word’ for the expressions
given below.

The practice of having more than one husbands at the same
time
Options:

1. * Monoandry

2. = Polygyny
3. = Mongamy



4. v Polyandry

Question Number : 155 Question Id : 54592734899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate 'one word' for the expressions

given below.

The practice of having more than one husbands at the

same time

Options:

1. * Monoandry
2. = Polygyny

3. = Mongamy
4, v Polyandry

Sub-Section Number: 2
Sub-Section 1d: 5459272073
Question Shuffling Allowed : Yes

Question Id : 54592734900 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the passage below and answer the questions that follow.

Francis of Assisi famously said that men lose all the material
things they leave behind them in this world, but they carry
with them the reward of their charity and the alms they give.
For these, they will receive from the Lord the reward and
recompense they deserve.

Not all men (read human beings) are born equal. Some are
born rich, some are born poor, and a vast majority
somewhere in between. Similarly, not all men are equally
gifted in the field of earning wealth and delivering material
comfort to their loved ones. But the basic necessities of all
human beings need to be fulfilled if they are to lead a
fulfilling and honourable life. Every religious scripture and
denomination preaches its followers to treat fellow human
beings with love and kindness. Charity and service to fellow
humans is universally rated as the supreme service to God.
If you look around with kindness and sympathy, you will
come across people who need help, not essentially and always
monetary! People around us need love, care and compassion
as well. As a good human being, it is our duty to help people
whenever and wherever possible. Instead of waiting for the
best time to start charity, you should start here and now. If
God has been kind to you in showering his blessings, there is
one sure way of praising him—Dby sharing God’s blessings
with others who need it more urgently than you do.

If you do not have the money and resources to spare, but you
have the inclination to help, you can consider volunteering
your time. Choose a charitable work that interests you and
where you can help with your education, skills and expertise.
Your charitable actions will not just brighten the life of
someone less fortunate but also light up your world, too.
When that someone smiles at you with gratitude, will know
the real joy of giving,.



Sub questions

Question Number : 156 Question Id : 54592734901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which among the following is
universally rated as the supreme service to God?

Options:

1. = delivering material comfort to their loved ones
2. v Charity and service to fellow humans

3. » earning wealth

4. = leading a fulfilling and honourable life

Question Number : 157 Question Id : 54592734902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, people around us might need
certain kind of help other than money. Which one of the
following in NOT included among the kinds of help
mentioned in the passage?

Options:

1. = Love

2. = {are

3. » Compassion
4. v Reward

Question Number : 158 Question Id : 54592734903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Francis of Assisi, when do men carry with them
the reward of their charity and the alms they give?

Options:

1. = During pilgrimage

2. = At the time of a vacation

3. = During their visit to a church or any other religious place
4. v After their death



Question Number : 159 Question 1d : 54592734904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To whom does Francis of Assisi refer to as the ‘Lord’?

Options:

1. = King of his kingdom

2. v The Almighty God

3. » Owner of the factory where he worked
4. = Sultan of Egypt

Question Number : 160 Question Id : 54592734905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the word ‘denomination’ as used in
the passage?

Options:

1. v A religious subgroup that is different from other
subgroups

2. = the value of a particular coin or currency note

3. » a direct specific meaning as distinct from an implied or
assoclated 1dea

4. = A charitable organization being run by the government

Question Id : 54592734900 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage below and answer the questions that

follow.

Francis of Assisi famously said that men lose all the
material things they leave behind them in this world, but
they carry with them the reward of their charnty and the
alms they give. For these, they will receive from the Lord
the reward and recompense they deserve.

Not all men (read human beings) are born equal. Some are
born rich, some are born poor, and a vast majority
somewhere in between. Similarly, not all men are equally
gifted in the field of earning wealth and delivering material
comfort to their loved ones. But the basic necessities of all
human beings need to be fulfilled if they are to lead a
fulfilling and honourable life. Every religious scripture and
denomination preaches its followers to treat fellow human
beings with love and kindness. Charity and service to fellow
humans is universally rated as the supreme service to God.
If you look around with kindness and sympathy, you will
come across people who need help, not essentially and
always monetaryl People around us need love, care and
compassion as well. As a good human being, it is our duty
to help people whenever and wherever possible. Instead of
waiting for the best time to start charity, you should start
here and now. If God has been kind to you in showering
his blessings, there Is one sure way of praising him — by
sharing God’s blessings with others who need it more
urgently than you do.

If you do not have the money and resources to spare, but
you have the inclination to help, you can consider
volunteering your time. Choose a charitable work that
Interests you and where you can help with your education,
skills and expertise. Your charitable actions will not just
brighten the life of someone less fortunate but also light up
your world, too. When that someone smiles at you with

gratitude, will know the real joy of giving.



Sub questions

Question Number : 156 Question Id : 54592734901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which among the following Is

universally rated as the supreme service to God?

Options:

1. = delivering material comfort to their loved ones
2. v Chanty and service to fellow humans
3. = earning wealth

4, = leading a fulfilling and honourable life

Question Number : 157 Question Id : 54592734902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, people around us might need
certain kind of help other than money. Which one of the
following in NOT included among the kinds of help

mentioned In the passage?

Options:

1. = Love
2. = Care
3. = Compassion

4. v Reward

Question Number : 158 Question Id : 54592734903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to Francis of Assisi, when do men carry with

them the reward of their charity and the alms they give?

Options:

1. = During pilgrimage



2. = At the time of a vacation

3. = During their visit to a church or any other religious

place

4. v After their death

Question Number : 159 Question Id : 54592734904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To whom does Francis of Assisi refer to as the ‘Lord™?

Options:

1. = King of his kingdom
2. v The Almighty God
3. = Owner of the factory where he worked

4, = Sultan of Egypt

Question Number : 160 Question Id : 54592734905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What I1s the meaning of the word ‘denomination’ as used In

the passage?

Options:

1. v A religious subgroup that is different from other

subgroups
2. % the value of a particular coin or currency note

3. * a direct specific meaning as distinct from an implied or

assoclated idea

4, = A charitable organization being run by the government
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Question Number : 161 Question Id : 54592734906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, IR Aaeul § ¥, 39 [OdeT & ad= & S 70 M7 9
& gt GTer Ao, @ [adeT 3l

Fgifend

1« g + o
2. = 99T + did
3. % 9T + T
4. v g + 3iTha

Question Number : 161 Question Id : 54592734906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T wesT #, I) Thedl A &, 39 TFeT FT ITT R
St feu 917 ereg o TET O [dwade &1 fasheT &I

I i bl
laldalllenc

Options:

1. » Ta&eT + ToRa
2. = fol&T + SId
3. = fa&ar + TR
4, v Tt + 3ford

Question Number : 162 Question Id : 54592734907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgelied Uy #, I [ddedl # 4, 39 [Admed @ Id9 & oI Ucdd 9 &

SIET, T g Dot 3l

1. v WeFER
2. % 3(qAT
3. % ol

4, * TEg

Question Number : 162 Question Id : 54592734907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
S eI § dal esE T TRl [deheq B

Options:

1. v THAER
2. = 3dHd
3. % Hoold




4. = RRIY

N

Question Number : 163 Question Id : 54592734908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FRTeTed U #, I” [Adeul § 9, 39 [dded & Id= & ST 6T T e
T Gg! Tt €7 aTell [ddeT gl

eITcieT

Options:

1.« agT
2. v &l
3. % &9
4, = qRIJ

Question Number : 163 Question Id : 54592734908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST T&U 370 efee &1 Hal d4d &9 glell [dhed &l

afciepr

Options:

1. = =T
2. v Scdr
3. » SWTal
4. » SRId

Question Number : 164 Question Id : 54592734909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myt v ¥, IR [Aaeul & T, 39 [IdheT o o= & ST Teed
H<T T G31 ey Tl al

Options:



1. % T@YTe
2. % TYTYT
3. v Sfitgrar
4. « GqE

Question Number : 164 Question Id : 54592734909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST HTIaTash AT T &l TdhedT sTal ol

Options:

1. = QTS
2. = TATYAT
3. v eferar
4. = "I

Question Number : 165 Question 1d : 54592734910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy §, R Aeeu § 9, 39 odew o7 ag= & S ohaT & |
oTeAT Ta! [AdeT 3l

UGTS Pich g Gel« ST

Options:

1. v Qealiolen shaT
2. % IHTYT
3. = URUM® ThdT

4, » GZh TshaT

Question Number : 165 Question 1d : 54592734910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST TopaT & A araT ol [ddhed ol

TGl dich dg Tolal SITUd|

Options:

1. v dritoler TohaT

o,

2. % SATHUTT
3. = OO TohdT
4. = TgFd TR

Question Number : 166 Question Id : 54592734911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieired Uy 7, IR Tdaetl § ¥, 39 [dded &7 Id= & 11 1¢J T Ee
& TTIATT e BT gl TAadey gl 3l

THT:
Options:

1. * @ifd
2. % gid
3. v Ulh
4. % THADH

Question Number : 166 Question Id : 54592734911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST 2T 910 o o UATIGRT eIsE hT Tar TahedT sTal &l

STHT:

Options:



* Tl

e

ol
<

x THR

Question Number : 167 Question 1d : 54592734912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
& Tarelie Srec, T Tg1 ddeT gl

JAP:

Options:
1. v 9gh
2. % 3TelIT
3. = Toemer
4. % hell

Question Number : 167 Question Id : 54592734912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST fau v ereg & TAelH oo &7 @@ Taoeq &

UJh:

[N
Options:

1.@*:\4-4;:%
2. % 3Teldl
3. » TehalNT
4. % 3Tohell



Question Number : 168 Question Id : 54592734913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeirad 7T , IR [Orweul § 9, 39 981 [Aded B od= B AT 1%h €U
& Telq 3Tda Ta@eT 3l

T IR U of= & d1¢ T oI T &l T8 Lgdll

Options:

1. » 3@-1g

2. v 3dr-udr
3. = of@r-s@r
4. = 3ITed-~gT

Question Number : 168 Question 1d : 54592734913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
F S ad Tae & fov 3T fddew &

Ush X 3UN olal & &S db oldl Rl & el I&dT|

Options:

1. = 3TE-U%

2. ¢ 3dr-9dr

3. % lET-SIE]

4. = TRl

Question Number : 169 Question Id : 54592734914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad uy #, IR Aaeul § T, 39 Rdey &1 = & St fau 1o
ATFATS & To1T T ST, T Gg! [AdheT gl

ST TehdlT TerUT T 3rwer BT e B

Options:



Question Number : 169 Question Id : 54592734914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST 12U a1w greramer & Tolv Uk ereg &7 Tal Fhed &

ﬁﬁﬁﬁﬂ%ﬂa@mq Coy gé‘hs’r:

Options:

1. v HFTHEN
x FEFTHIA

2. = @
3. » AT
4. % ATEET

Question Number : 170 Question Id : 54592734915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgtetad vy ¥, IR faweut & ¥, 39 TEI [AdeT & a3 & St eh T
& felT 3o ey 3l

TRIpIr = gt @ TY T [Tl

Options:

1. = gO0T

Question Number : 170 Question Id : 54592734915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
H ST RN TaTer & folv 3T @seq B

forerrdl & gt T TT HT T

Options:

1. = &OT
2. v BROT
3.« g
4. = R

Question Number : 171 Question Id : 54592734916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My v &, IR [Adetl § ¥, 39 [dded & o= & S 16U T SIed,
& GHTTET Sree, oT gl Tddhed gl gl

ha

Options:

1. = ga=T
2.vqgu
3. = qHH
4, % YTl

Question Number : 171 Question 1d : 54592734916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST few 1w ereg & TATATAT osg FT Tar Aereq a5 &I

hlal:

Options:



&gl
v 1gd

e R

UIIH

ol
#®

% TRt

Question Number : 172 Question 1d : 54592734917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgead Uy #, IR TAaeul # ¥, 39 Ahe &7 T o ST 1 U1 &
ToTT SUYeH e, T gl [hho g1 gl

A, agd W AT

Options:
1.« qH
2. % g3
3.8

4, % og

Question Number : 172 Question 1d : 54592734917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST R TTel & ToIv 3uged oree 7 @7 fashed a7 €

AT, SgeT g7 & 3T g

Options:



Question Number : 173 Question Id : 54592734918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 77 #, IR ool § 9, 39 oo @7 od oY 511 [, e, T
gl fadmeT 3l

Options:

1. v P

2. % pEY
3. % PENT
4. « pE

Question Number : 173 Question Id : 54592734918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
ST eg ereg T TP faked &

Options:

1. ¢ SReTEr
s

2. % FHEa
3. % HgMEl

-

4.%@'@'

Question Number : 174 Question Id : 54592734919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 &, O [adeul § &, 3T dheq o adT B 1 g A, Pl
gl fadmeT 3l

Options:

1. v IUREITT
2. % SUTEATT
3. = JUEdr
4. » 3UQTATa

Question Number : 174 Question Id : 54592734919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST e[ <Tse 1 Hel fawed &

Options:

1. v 39MEdfa
2. = FUiefa
3. » 3UEATAT
4. » 3ggAfa

Question Number : 175 Question Id : 54592734920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
Gﬁiafﬁﬁﬂ %I

Options:

1. * 39T
2. v ST
3. % ST
4, = ST

Question Number : 175 Question Id : 54592734920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST e[ <Tse 1 Tal fawed &

Options:

1. = 8T
2. v 84T
3. % ZET
4, = T

Question Number : 176 Question Id : 54592734921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




MYeiEd Uy #, I [Adeul # ¥, 39 [ddeT ST T3 B ST I&T Sl
S[ec; aTel gl Tddhey gl

Options:

1. * <helch
2. v AT

3.« G
4, = MG

Question Number : 176 Question 1d : 54592734921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST TeT EEIfeler ereg aTam Tar [dhed &1

Options:

1. % holsh

4, = G

Question Number : 177 Question 1d : 54592734922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyto@d vy §, o Aeen § 9, 39 wew o g9 o Y eu 7y e
T TgT ST ST T, 3l

fergr

Options:

1. = Tage
2. % Tag=Hdl

Question Number : 177 Question Id : 54592734922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T wesT #, I) Thedl A &, 39 TFeT FT ITT R
S faU 1T ereg T TG TAITolaT Tl eIsg &l

IECCIGH

L

Options:

1.&%@%

2. » Tae@read)

3. g
4. » drewy

Question Number : 178 Question Id : 54592734923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied T &, IR [Odeul § €, 39 [ddhed & Id= & I ¢ 7 T <6
o Telq aTger 9Iec, dl Jed 38T fddey gl

Heh

Options:

1. v Ul
2. % Yl
3. = YihdT
4. % IHI

Question Number : 178 Question Id : 54592734923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST T a0 oreg & fow gD AE Pl Tod 3T Ahed B

Hercd

Options:



1. v HFdSTod

3. = oToFaar
4. % $TdT

Question Number : 179 Question 1d : 54592734924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy §, o Aeeu § 9, 39 dew & a9 o S disad § U
Y e, & IR TEIH [T efTeh Gel=TH &7 a4 30T [ddhed 3l

Options:

1. * (AY) U9 U Tdeell i
2. v (W) W UTH gf 9 @l
3. » (B TO gl AMGU

4, = (3ITPT) AT G AT 3l

Question Number : 179 Question Id : 54592734924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST hItsh: & OV a0 ofee & H[dN HALIH J3Y IR+ FdalA
FT g8 3T [Ahew &I

Options:

1. % (M) 98 v Sear &
2.@(@?)mqm€f%@|
3. = (FFTHN) IS el AV

4, % (3FT) A FT =T &l

Question Number : 180 Question 1d : 54592734925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fafalad vy # ar Raeul § ¥, 39 wew o1 ag= & S oy My areg
& el T Fg! e gl

AT 3T | UFT & O AT

Options:

1. * QTATT YTATTDIel

2. v YT HidtdhTal

3. * 37YUl Ydhrel
4. » gded 7S YddTol

Question Number : 180 Question Id : 54592734925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST 12U 310 greT & Tl T &l [@hed &

IS, 3ol # Vg & 8T AT>|

Options:

1. = OTATeT JTOSTRTe
2. v THTT Hiasghrer
3. = 3YOT #[chTel

4. = %FI%FFJ 1 HAq HcThTel

General Hindi2

Group Number : 10

Group Id: 5459271730
Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 5459271730

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272075
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592734926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYTeied U &, IR [9detl # 9, 39 [adey &f ad= & AT &7 M7 arad
& ToIT gid & 9, T gad 30T [ddeT 3l

oTg B & el =1t TS g

1. v Gegred
2. % Ta%rared
3. = Yhare
4. » FUTAATY

Question Number : 181 Question Id : 54592734926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
St fU 910 g & Tow gicad & #AG &1 §od 3o dhed &

ST BT & foIv ol 92 gl

Options:



B W=
®

Question Number : 182 Question 1d : 54592734927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& ToIT Ugr & A, BT JaX 30T [adheT 3l

&S gl SIT LGl gl

Options:

1. * IIRYENd®H
2. v Wdedd
3. % GraugaEd

4. » QUidTerdeD

Question Number : 182 Question Id : 54592734927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @a mea A, I) TFedr A &, 39 TFeT FT TTT
S feu v areg & v weT & A T a8 3TST [Adheq &

&5 dadl ol &l gl

Options:

1. = 3HASIIAD
2. v TIdedideh




Question Number : 183 Question Id : 54592734928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g el # & MEATIIR oed uiads & [daey gyl

g 31T oS Tg! pdT (FTemy)

Options:

1. v 39F A ST gl ATAT
2. % dg gl ST

3. * ST 39D 9 # g1
4, » g 91¢, ¥ o1

Question Number : 183 Question Id : 54592734928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foieet fashedt & & fadene@r ared aRade &1 faweq v

g8 3F & ool bl (HTTaTd)

Options:

1. v 398 31T ST ool Srar
2. % Tg gl SS9
3. = Sl 3Tk a8 H A8l

4, = T§ 5 H ST

Question Number : 184 Question Id : 54592734929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeed ¥ §, IR Tweul § 9, 39 [Adhey @ ad= o3¢ S 951 arad 9

T Aoy gl

STec O AT, TIT 0T it = @grl

Options:

1. *» Igeh AT
2. v Y e




3. * gD arag

4, » GhddTad darad

Question Number : 184 Question 1d : 54592734929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST TET arerg A T [Gheq gl

STeql gY 373, T TUdr Sir o aTl

Options:

1. » HJFT T

2. v T8 g

3. * Hogardeh arerd

4. = HhddTder aTFy

Question Number : 185 Question Id : 54592734930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My 77 #, I [adeul #§ ¥, 3T [Aded BT oI e 91l Gg! a1ad 9e,

PT Aol gl

e IS thi 3Tl UL 3T 3l

Options:

1. = G aATH
2. % Yhdarad arad
3. = Ty arag
4, v YT d1ag

Question Number : 185 Question Id : 54592734930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i@ uea #, I) Aeedr A 8, 39 TFeqT &7 T =
ST HaTr arFg §6 T Tdehed &l

§ed U T STl W T &

Options:

1.« HYFT qTHY

2. = Hhddr<leh aTer

3. = T8y greg

4. v Il ATy

Question Number : 186 Question Id : 54592734931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddhedl § 9, 39 Tdthed B T B ST gl ATFT A
&7 et 3l

g UTXHH P 3 el gl ST

Options:

1. v g a1

2.« Yehdarad aTad
3. = THY aTeFT
4, » o ATFY

Question Number : 186 Question 1d : 54592734931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
ST TET Gy A T [dhed &l

a8 URATH 9T T %ol g SATWam|

Options:



v H-gcrd CIERS

x HerddTdF aTH

« TR gy

ol

# el dlady

Question Number : 187 Question 1d : 54592734932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Myfeiiad wer #, IR [awmeul § §, 39 [Aded @ aa+ oL ST g, a1ad Pl
qeq 39T [adeT 3l

Options:

1. v 39 AEdTeT H 3ATGT PT T ST gIdT 5
2. % B AEYATeT H YU 3IT@T BT SAT gl 3
3. * BEIT gIdT & GUd AT BT 39 AETdTeT A
4. » ATET BT YOI eIl GIdT & 39 EUAT §

Question Number : 187 Question Id : 54592734932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST &g a1 Tad 3eaT fashed &

Options:

1. v 39 3EqATl H 3TET T JAFT Follsl BT &
2. » TH 3TUATSl # HEA &N FT Zollol 81T &
3. = FoISl BIT & HFA 3@l T 30 39l A
4. = 3T FT AFA Follel BT & A 3T A

Question Number : 188 Question 1d : 54592734933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
Ik AT DT gl [aeT gl

Options:

1. * rey it = agr, ¥ FgT




2. v I it whgt, " H TET
3. % T St 3 gl- § FET
4. « 2rey St 3 wgr ¥ 7 G

Question Number : 188 Question Id : 54592734933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST fere RIger o arehg &7 §ET faehed &

Options:

1. = 2rer St o gr, # J@r ol
2. v ZIeT ST o eT, "H FEr gl
3. = @rqr Sfr & shgr- & I
4. = 2T ST o Fgr "H FEr g

Question Number : 189 Question 1d : 54592734934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
Ik AT DT gl [aeT gl

Options:

1. » 897§ Tg1 A1@T @ -"LEE1”
2. % 8T TEI A1@T @Y, -G
3. v BT # SIg1 /TG Qrar-gI|
4. = BT # gl ARG WA T1E

Question Number : 189 Question Id : 54592734934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST fere Rger gobd areh g &1 T fdhed &

Options:

1. = #IrT # <18 ArEer @RI
2. = FI1 #H T ATES @Y, -GIEH|




3. v FIT # T ATES FRT-HIEH |
4. = 1 # T ATEST THREAT TS

Question Number : 190 Question Id : 54592734935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
Ik AT DT gl [aeT gl

Options:

1. » TO-qA df AT gr gail T2
2. v ! QA T 714 g1 & 1
3. * T®! g df A1 gt gait fear
4. = TO! "qH a0 gt gl e’

Question Number : 190 Question Id : 54592734935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST fere Rger gobd areh g &1 T fdhed &

Options:

1.« f&-gaa ar a1\ & g e
2. v T qaet ar =\ g gar e
3. = &I gAar o ame & gar feam
4. « & "gHEa dr oA & gar e

Question Number : 191 Question Id : 54592734936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR Aaeul § T, 39 Rdey & ad= & S feu 17 R
T & ToIq T GETer aTelT e 3l

AT T T TR

Options:

1. v T YT g@ 1Y




2. % g T
3. * 3INT FfeAT AT
4,  TgTS Tgel 1

Question Number : 191 Question Id : 54592734936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St feu v R wourer & forv @@ Agmay aren fawhed &

AT T HTHS STHT |

Options:

1. v A W1 g 970

2. = # g

3. # 39T Sl Elall
4. = TgIs i%(_*lla_'ll

Question Number : 192 Question Id : 54592734937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTerad vy #, IR Aaeul § T, 39 Rdey & ad= & S feu 17 R
T & ToIq T GETer aTelT e 3l

AT HTeld i 4 B Pl TET TGl 3l

Options:

1. = TTeT SSITHI
2. v Tes duhr
3. % TFI gl A0
4, » QTS TTeAT

Question Number : 192 Question 1d : 54592734937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST few atv R Togmer & Tov @87 JgTal arelr fasheq gl

kTl ATfelR <hr d 3Ta kT I el ol

Options:

1. = 9Tl oIl
2. v MEg Hhr
3. = TFAd BT ST

4, = FTg Ul

Question Number : 193 Question Id : 54592734938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl ed U §, IR [Adeul § 9, 39 [dded &7 Id- & Sl eQ T
ATFATS & ToTT TgT oAl Ich eATelT TerdheT gl

Tt 3TOHT 3N EHTT SE D

Options:

1. v 3eTeT I DiddTel Bl Bic

2. % Ueh BT § dTeil Aal a=tal

3. % YT T Ul ol GIT

4. * N UdeT § @1 34T # 9 deAr

Question Number : 193 Question Id : 54592734938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
Sr TS0 910 arerarer & TolT Hal dlehlied arell [dehed &1

Tl el HT THRIT GEAU T

Options:



1. v 36l T hicdarel &I 81¢

2. = Ueh BT I dlell dal soldr

3. % ©Y T HET TR T

4, = F Yedel H HTeT 38T # B Rl

Question Number : 194 Question 1d : 54592734939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR [Adeul § 9, 39 g1 dde’ & a3+ &8 ST 167 T
ATFIT D TAT g1 oAlepITeh Tl Dol gl

SIT-gZPT UTT g [hdT STl

1. * STgl ®Tg 95l U5

2. = B & UiaT A1 gia

3. * UL JULL PAeT TZeX

4, v ST AG@l Tg1 Telt ATdr

Question Number : 194 Question 1d : 54592734939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
FE S BT 70 grermer & T FEr olehlied arelm Shed &

STTel-§gTehY U9 oTal fohdT ST

Options:

1. « S8l =g agl g

2. « 33 ¥ dfT 7 A

3. % WY UL FAT FgN

4. v SITAT AFET oT@T ToAarell SATAT



Question Number : 195 Question Id : 54592734940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMgTetad v ¥, I aweut & @, 39 G5! [AweT & aa= & St &y My
ATFLT D Tl &I oAleplTeh Tl [adheT gl

et ¥ aome dierer Ie@m T

Options:

1. v I SIA-3TeT # UTd-UTd

2. * U T Y YT T UTt

3. * T & GlIel GG

4. % &L FUT ST I & TS

Question Number : 195 Question 1d : 54592734940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl &I WeaT H, I [dshedl & &, 30 T2 [dhed FT T4
FE S ST 9T greraTer & ToIT Tar ellehlfed arelr [aehed &I

Buelr @ gy wierer fe@ren

Options:

1. v  STel-sSTel # 9TT-91eT
. * G T Y Uleil T Ulall

2
3. = gT * gl YgIaa
4

. % ST FAT I 3HEIh T &1

Sub-Section Number: 2
Sub-Section 1d: 5459272076
Question Shuffling Allowed : Yes

Question Id : 54592734941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



ST TEU T TN @ ST 5 WY 1aU T g1 39 Wer <l el e yeieh U¢ 3T

AR TIhedl # ¥ Yodeh T T Galad 3ol g

ATd® 1T <afth o TEIAgR, YT T MU aF TeIT &l af g, 39 A
3T 3TTCHT DI ITdeTdT T UTTT Pl gl T§ I=dolal i cAfh dI og Taprer
2T & oIl BTAT § og 310+ -7 T O Tgd-GTeT e el gl
ATdd 1T <gfth B Sitee dhf Taed T3 & gl ATEATe T 14! 3,
3P SATeT-G8 Pl IselerdT 3T TAATeTdT W& Bl g I AT Dl Fgef
G AT Pl DT STTa Pl a1 &8 & @ i UM AT 21 o ieh Bl
HUR & =79 h ST ¥ I @A gl o AT 14T gt § Toh Sgeh yeprar &
IR 3R TAUHT el & YT SCH Q3T g1 IPhdT gl ATdd [T ik #
Y SFTh AT & GE-GE o WY 37 DT HAR a7 DLl 1 §, U &2 i
TAST T HTEfT Irer o T STISeh? TEIICT ehi HIEHT el HT ST Lt 3l
ATden AHT-Yed! el UgaT 3R I UL [ saTe B eATell edih g1 3
TP & YERIT § T Sadt 30 GANT, 227 3T T P Wi 39 YR hi

ST F ST GehelT gl

Sub questions

Question Number : 196 Question Id : 54592734942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3R ATHT Dl Iseerdl (g UTH Sl ST bl g2

Options:

1. » & ST §

2. *» JEIagik
3. v AT TaET

4. » IR

Question Number : 197 Question Id : 54592734943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATdn T Thdech Uid SMTEAT ¥ b S-TT g7

Options:

1. » &gith & Uid




2. % GHTST & Uid
3. = & P Uid
4. v ST T TIET TR

Question Number : 198 Question Id : 54592734944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TT&IT o YepTer § <ATch AT e T[SIRaT 32

Options:

1. = TRt aal ¥ dior gaHT
2. v AT d<al BT SR TH

3. = ThdT T 9 mrar
4. » TAXT i B AT

Question Number : 199 Question Id : 54592734945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST & T - AT GEER BT T T8 2

Options:
1. * Mg 3R
2. % YE I

3. v d7d® 3R
4. % ATdd® T

Question Number : 200 Question Id : 54592734946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 AV, BT his IUYeh AT

Options:

1. v ATdd T&T

2. % YR

3. = ToRyefT a<ar

4. % S Hr GHETY

Question Id : 54592734941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Question Label : Comprehension

A T I arggrer & 918 5 wed AU Iy §1 TH AT H
eTYdeh U6 AN TN fdhedl H & Ucdsh Weel FT HalcdA

3cal e |
s |

AT fereTT suferd T Teegdan, e &l 3R d Jgled
FIAT 8T &, 38 A 3 ITcHT hT Soodeldl HT Weld Hidl ol
I 3oodoldl &l SITed I T§ UhTeT adr & o Tehl oR—T # 98
MYel GTY-ATT FAT F7 BT-A18eT T TehdT &1 adATaer Rrer
=T I SiIge hl TTET W & Wiad HEAET Fd1dT &,
3T FAFA-T0C T Ioodeldr AT Aemerdr were :ar & 3K
AT T TgoT TACAT hl SPITRT Sidd I TEl Tve T &
T OO &AT &1 98 ST ! ER & =9 & A & g
TECT &1 g odfae e &r § for ous ueprer & saferd
g«‘ﬁﬁ'ﬂ’f, 3TESRT, YTEEI, HoATdehdT3l 3T T AT WItd T I
TelT 3TeTR 3T BT decal & OTAS SR WST &1 JehdT &l
aAfcieR TRI8TT =gfor & g gioadl & E-g@ & Y el
FT TIR AT FIAT T &, 391 227 1 [AST v ATy garer &
AT SERT TSEIIAT hT HTET hr ol ISR FIaT &1 Afadeh
ATA-FHedT T Tglelal 3N 3o W TI2ard sdel aTell siehed ol
3ok R & SCRIRT & TT SR 39a AT, 2397 3K I
FI T 30 TR kT AT F &7 Fehell &

Sub questions

Question Number : 196 Question Id : 54592734942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT 3T 3TcAT T Soogedr fad wrea Fr ST TRdr &7

Options:

1. » O3 Sige &
2. * HEoddgi
3. v afder fereT
4, » HAR

Question Number : 197 Question 1d : 54592734943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oAt TRIeT formeh Ui 3MEam @ I SeIrr 87

Options:

1. = =gfed & ufd

2. = THATST & U

3. » T & Uld

4. v Sdel hT TIEA IO

Question Number : 198 Question Id : 54592734944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aAfcieh R8T & wehrer A cafehd T T JORAT 87

Options:

1. = [T Tecal & T BT
2. v TATT decal &7 Scehd HTH
3. = frdT & off SerET

4. = TaULT decal T 3YeATalT

Question Number : 199 Question Id : 54592734945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH T il - T YSCAN T TIIGRIT T8l &7

Options:




x fagag 3R
% S 3R

v ofdeh 3T=ROT
x HaATdeh 30T

Question Number : 200 Question Id : 54592734946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH 3e[oe, T I STPFA AT

Options:

1. v oifder TRI&T

ol

2. % YSIAN
3. *» @O decg
4. = Sidel shT THEATT



